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ST-2049 RRBPO (MAINS) 2020 (PRACTICE)

Statement: Mrs Indira Gandhi nationalised 20 banks of India — 14 in the year 1969 and 6 in the year 1980 — saying that the banks were not following the
policies adopted by the country after Independence and forced them to come under government ownership.

Which of the following is/are assumption(s) in the above statement?

1. Banks were nationalized because they followed the concept of class banking not mass banking.
II. India being a socialist country, it is the duty of the banks to the welfare of people.

III. The banks should be nationalized in socialist country.

IV. It was declared by the first PM of India that there will be nationalized banks in India.

01. OnlyI 02. OnlylandII
03. Only IT and III 04. Only L, I and III
05. All of these
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Unlike other retail outlets, where items are purchased in any number of units the customer wants, in super-markets items are grouped in bulk packages.
This bulk buying offers saving to the customer. The option to buy at wholesale prices by buying in bulk makes super-market a practical choice for budget-
conscious consumers.

Which of the following assumption may be derived from the above information?

01. Super-markets often have greater buying ~ 02. Super-markets are often more conveniently located and have better parking facilities
power and lower overhead costs, so they
can offer a greater variety of products than
regular retail outlets
03. The emergence of super-markets has 04. Tt is economically wise to buy single items since bulk packages seldom offer significant savings
caused many small retail stores to close
down and thus eliminate competitions

0S. The financial savings from purchasing bulk
packages may outweigh the inconvenience
of being unable to purchase in any number
of units that suits the customers’ need
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Solution for Question 2 Ans Key: 5

eng

Buying in wholesale and bulk depends upon the choice of the customer’s choice and may cause financial saving.
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Q-3 Chewing- tobacco has many benefits. However, the primary benefits occur in the area of mental health. The habit originates in a search for contentment.
eng The life expectancy of our people has increased greatly in recent years. It is possible that the relaxation and contentment and enjoyment produced by
tobacco chewing has lengthened many lives. Hence, chewing tobacco is beneficial.

Which of the following, if true, would weaken the above conclusion?

01. The evidence cited in the statement covers 02. The Government earns millions of rupees from the sales of chewing tobacco
only one example of the effects of tobacco
chewing

03. There is as yet no statistical evidence to ~ 04.  All of the above
prove a link between chewing and longevity

05. None of the above
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Q-4 The Deficit of India is increasing day by day and we can see that non plan expenditures of the government are increasing enormously.

What courses of action should the government take in order to decrease the Deficit of the country?
(1) Make more strict fiscal policy

(2) Disinvestment

(3) Introduction of new bonds

(4) Printing of currency

01. Only (1) 02. Only (1) and (2)
03. Only(3) 04. Only (4)

05. All of these
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Q-5 Statement:

eng The cinema halls are incurring heavy losses these days as people prefer to watch movies in home on TV than to visit cinema halls.
Courses of action:
I. The cinema halls should be demolished and residential multi-storey buildings should be constructed there.
I1. The cinema halls should be converted into shopping malls.

01. Ifonly I follows 02. Ifonly II follows
03. TIfeither I or II follows 04. TIfneither I nor II follows
05. Ifboth I and II follow
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Q-6 In the question below is given a statement followed by two assumptions numbered I and II. You have to consider the statement and the following
eng assumptions and decide which of the assumptions is implicit in the statement.

Statement:

World Design Organization (WDO) will be launching its new global programme "World Design Protopolis' in Mumbai.

Assumptions:

I. The mega event, witnessed the convergence of policymakers and government officials, design professionals from India and abroad, architects, interior
designers, heads of various companies, thought leaders, besides the general public.
I1. The project also aims to measure the progress of the city, attract investments and solve problems so that the city becomes a better place for citizens.

01. [fonly assumption I is implicit 02.  If only assumption II is implicit
03. Ifeither I or IT is implicit 04. Ifneither I or Il is implicit
05. Ifboth I and 11 are implicit
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Solution for Question 6 Ans Key: 2
The World Design Organization is all set to launch its new global programme World Design Protopolis in Mumbai. It is aimed at implementing holistic

progress in megacities across the world and thus making them sustainable. An assumption I describes the persons involving in the programme. So, only

assumption Il is implicit.
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Passage for Question 7, 8, 9, 10, 11 (ST-2049RRBPOMAINS(25-29R)2020)
eng Passage

Study the given information carefully and answer the given questions.

Ten people are sitting in two parallel rows containing five people each, in such a way that there is an equal distance between adjacent persons. In Row-1- A, B, C,
D and E are seated, but not necessarily in the same order. In Row-2-P, Q, R, S and T are seated, but not necessarily in the same order. Some members are facing
south and some members are facing north. Therefore, in the given seated arrangement each member seated in a row sits opposite to another member of the other
row either facing to north or south.

Q, who is the second youngest person is sitting at the extreme end of the row. At least five persons elder than B. P is third to the right of Q. D is at immediate left of
E. R is not an immediate neighbour of P. T faces opposite direction to R. The person who sits diagonally opposite to T is third youngest person of the family. D sits
immediate left of the person, who sits opposite to Q. Only one person sits between D and A. B is to the immediate left of eldest person of the family. Only two
persons elder than R. T is second to the left of S. Two persons sit between A and C. E does not sit opposite to T. D and P faces opposite directions. T is to the
immediate right of P. E sits second to the left of B. T is third to the left of R. T is elder than P but younger than S. R is elder than T and B but younger than A.
Youngest person of the family sits opposite to S. Q faces north. B is not the eldest person of the family. D is elder than the one who sits second to left of T.

hi Passage
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Q-7 What is the position of T with respect to the third oldest person?

eng
01. Third to the right 02. None of these
03. Fourth to the left 04. Second to the left

0S. Immediate to the right

Q-7 R U9¥ §8 Afad & T B THT M R B2

hi
01. QU IR 02. 370 9 PIs T
03. 91T J T 04. U Y I
05. 3l g

Solution for Question 7

Q >E

Q-8 If all persons are arranged in ascending order from their ages, then what is the position of the person, who sits second to the left of E?
01. First 02. Sixth
03. Seventh 04. Fourth
05. Third
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01. Tgar 02. W3]
03. rddi 04. T
05. T
Solution for Question 8
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Q-9 ‘Who among the following sits opposite to third youngest person of the family?
eng

Ans Key: 2

Ans Key: 5



01. Person, who sits opposite to B. 02. Fourth eldest person of the family
03. Both (1) and (4) 04. Fifth eldest person of the family.

05. Q
Q9 FHfafed # 3 31 uRaR & TR Tod BIC Yaw F fIudid 961 52

hi
01. fF S B ARd da1 8| 02. URER & N ST YW B |
03. (1) 3R (4) & 04. GRIR F1 Uieal 9T He B
05. Q
Solution for Question 9 Ans Key: 5
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Q-10 Which of the following statements is true regarding D?

01. D sits opposite to S. 02. D faces south and sits immediate left of C.
03. None of the given statements is true. 04. Q sits opposite to the one, who sits immediate left of D.

05.  Only two person sits between D and A.

Q-10 FERRTHI P FHUTD S T AT g?
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Solution for Question 10 Ans Key: 2
eng
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Q-11 If fourth youngest person of the family is 34 year, then what is possible age of B?
eng

01. Bis 34 year old. 02. More than 34 year
03. Can’t be determined 04. Less than 34 year
05. None of these

Q-11 I uRaR &1 A1 e BleT e 34 a9 H18 @ B B HIfad g a1 82

hi
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Solution for Question 11 Ans Key: 3
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Q-12 This question four statements are given followed by five conclusions, one of which definitely does not logically follow (or is not a possibility
eng of occurrence) from the given statements. That conclusion is your answer.
(Note : You have to take the four given statements to be true even it they seem to be at variance with commonly known facts and then
decide which of the given conclusion logically does not follow from the given statements disregarding commonly known facts.)
Statement:
All manisha are meena
All meena are paras.
No paras is kiran.
No kiran is a renu.
Conclusion:
01. At least some manisha are kiran. 02.  All renu being manisha is a possibility.
03.  All paras being renu is a possibility. 04. At least some paras are manisha.
05. No kiran is a meena
Q-12 fHfafad uyi ¥ ar vy R v & fome a1e uia fAwd fag v 8, o & ues fw e su=i & & fAfda wu § aoquf srmmur

Solution for Question 12
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Ans Key: 1

eng
hi

Q-13 This question four statements are given followed by five conclusions, one of which definitely does not logically follow (or is not a possibility
eng of occurrence) from the given statements. That conclusion is your answer.

(Note : You have to take the four given statements to be true even it they seem to be at variance with commonly known facts and then
decide which of the given conclusion logically does not follow from the given statements disregarding commonly known facts.)



Statement:
Some R are B.
AllR are M.
All B are D.
No D isaDP.
Conclusion:

01. All DP being M is a possibility. 02. NoMisaB
03. NoDPisaB 04. At least some R are D.
05. At least some M are D
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Solution for Question 13 Ans Key: 2
Q-14 This question four statements are given followed by five conclusions, one of which definitely does not logically follow (or is not a possibility
eng of occurrence) from the given statements. That conclusion is your answer.

(Note : You have to take the four given statements to be true even it they seem to be at variance with commonly known facts and then

decide which of the given conclusion logically does not follow from the given statements disregarding commonly known facts.)

Statement :

All seena are reena.

All jaya are seena.

All jyoti are jaya.

No reena is a diksha.

Conclusion:

01. No seena is a diksha. 02. All jyoti are reena.

03. No jaya is a diksha. 04.  All diksha being jyoti is a possibility.

05. At least some reena are jaya.
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Solution for Question 14
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Ans Key: 4

This question four statements are given followed by five conclusions, one of which definitely does not logically follow (or is not a possibility
of occurrence) from the given statements. That conclusion is your answer.

(Note : You have to take the four given statements to be true even it they seem to be at variance with commonly known facts and then
decide which of the given conclusion logically does not follow from the given statements disregarding commonly known facts.)

Statement:
Some D are ravi.
All ravi are ram.
All ram are S.
No Sis A.
Conclusion:

01. All A being D is a possibility.
03. Al D being A is a possibility.
05. NoraviisaA

02. No A is ram.
04. Allravi are S.
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Solution for Question 15

eng

D RAVI JRAM\S

02. B A, IHAETRI
04. Tfizfa, s B

Ans Key: 3



Q-16 This question four statements are given followed by five conclusions, one of which definitely does not logically follow (or is not a possibility
eng of occurrence) from the given statements. That conclusion is your answer.
(Note : You have to take the four given statements to be true even it they seem to be at variance with commonly known facts and then
decide which of the given conclusion logically does not follow from the given statements disregarding commonly known facts.)
Statement:
NoSisaM.
AllH are N
AllJare M
AllM are HT.
Conclusions:
01. AllHT are S 02. Some N are H
03. All H being HT is a possibility. 04. AllJare HT.
0S. None of these.
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Solution for Question 16 Ans Key: 1
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Passage for Question 17, 18, 19, 20, 21 (ST-2049RRBPOMAINS(30-34R)2020)
eng Passage

Study the following information carefully to answer the given questions.

A word and number arrangement machine when given an input line of words and numbers rearranges them following a particular rule in each step. The following is
an illustration of input and rearrangement.




Input: 97 Country Under 48 35 Show Happen 18 38 Zero.

Step I. Country Under 48 35 Show Happen 18 38 Zero 97

Step II. Country Happen Under 35 Show 18 38 Zero 97 48

Step III. Country Happen Show Under 35 18 Zero 97 48 38

Step IV. Country Happen Show Under Zero 18 97 48 38 35

Step V. Country Happen Show Under Zero 97 48 38 35 18

Step VI.38 19212697 48383518

Step VI is the last step for the above input. As per rules followed in the above steps, give an answer to the following questions.

Input: Unique 55 87 Contain Trunk 13 Goes 44 62 Zoo

hi Passage

TSR BT ATYdS ega=T Biford ¥ 3T M ugt &1 3w diford:

TR H gfafd a8 | Fufifad, $qe 3R gredawt TR0l &1 Ue 3SERU 8 |

§1YC: 97 Country Under 48 35 Show Happen 18 38 Zero.
TIRUTL. Country Under 48 35 Show Happen 18 38 Zero 97
IRUT 1. Country Happen Under 35 Show 18 38 Zero 97 48
TRUT 1. Country Happen Show Under 35 18 Zero 97 48 38
TIRUTTV. Country Happen Show Under Zero 18 97 48 38 35
IRUT V. Country Happen Show Under Zero 97 48 38 35 18

TRUT VI 3 8 19 21 26 97 48 38 35 18 N . . _
TR VI SIRIFd 37YE & forg 3ifa ==or 8 | IuRiad TRo # U MU ot & SR, Fafafad udi & S 2|

§YC: Unique 55 87 Contain Trunk 13 Goes 44 62 Zoo.

Q-17 Which of the following Step is last but one step?

01. Contain Goes Trunk Unique 13 44 Zoo 87 02. Contain Goes Trunk Unique Zoo 13 87 62 55 44
62 55

03. Contain Goes Trunk Unique Zoo 62 87 55 04. Contain Goes Unique 55 Trunk 13 44 Zoo 87 62
44 13

0S. Contain Goes Trunk Unique Zoo 87 62 55
44 13

Q-17 THfaRed® ¥ ®F 1 sifaw § uga aren @RI 52

01. Contain Goes Trunk Unique 13 44 Zoo 87 02. Contain Goes Trunk Unique Zoo 13 87 62 55 44
62 55

03. Contain Goes Trunk Unique Zoo 62 87 55 04. Contain Goes Unique 55 Trunk 13 44 Zoo 87 62
4413

0S. Contain Goes Trunk Unique Zoo 87 62 55
4413

Solution for Question 17

eng Input: Unique 55 87 Contain Trunk 13 Goes 44 62 Zoo.
Step I. Contain Unique 55 Trunk 13 Goes 44 62 Zoo 87
Step II. Contain Goes Unique 55 Trunk 13 44 Zoo 87 62
Step III. Contain Goes Trunk Unique 13 44 Zoo 87 62 55
Step IV. Contain Goes Trunk Unique Zoo 13 87 62 55 44
Step V. Contain Goes Trunk Unique Zoo 87 62 55 44 13
Step V1.3 720 21 26 87 62 55 44 13

hi %TYC : Unique 55 87 Contain Trunk 13 Goes 44 62 Zoo.
TRUTL.  Contain Unique 55 Trunk 13 Goes 44 62 Zoo 87
IRUT L. Contain Goes Unique 55 Trunk 13 44 Zoo 87 62
TRV 1. Contain Goes Trunk Unique 13 44 Zoo 87 62 55
TRUTTV. Contain Goes Trunk Unique Zoo 13 87 62 55 44
IROTV. Contain Goes Trunk Unique Zoo 87 62 55 44 13
TRUTVI. 3720212687 625544 13

Q-18  What s the sum of the numbers, which is 3rd from the left end in Step VI and 2nd from the right end in Step V?
eng

TS W5 3R TS &1 FARYT B alelt Th AR B od Weg | 3R T3t &1 T 39Ye Ufad fqu o iR a8 I Rufia fadi & srar ude

Ans Key: 5



01. 64 02. 84

03. 74 04. 94
05. 54
Q-18 RO VIH U BR Y R 3R IR0V & TR BR Y g@} ST BT AT a1 82
hi
01. 64 02. 84
03. 74 04. 94
05. 54
Solution for Question 18 Ans Key: 1
eng Input: Unique 55 87 Contain Trunk 13 Goes 44 62 Zoo.

Step I. Contain Unique 55 Trunk 13 Goes 44 62 Zoo 87
Step II. Contain Goes Unique 55 Trunk 13 44 Zoo 87 62
Step III. Contain Goes Trunk Unique 13 44 Zoo 87 62 55
Step IV. Contain Goes Trunk Unique Zoo 13 87 62 55 44
Step V. Contain Goes Trunk Unique Zoo 87 62 55 44 13
Step V1.3 720 21 26 87 62 55 44 13

hi %TYC : Unique 55 87 Contain Trunk 13 Goes 44 62 Zoo.
TRUT]. Contain Unique 55 Trunk 13 Goes 44 62 Zoo 87
TRUT L. Contain Goes Unique 55 Trunk 13 44 Zoo 87 62
RO 1. Contain Goes Trunk Unique 13 44 Zoo 87 62 55
TRUTIV. Contain Goes Trunk Unique Zoo 13 87 62 55 44
TRUTV. Contain Goes Trunk Unique Zoo 87 62 55 44 13
IRUTVI. 3720212687 625544 13

Q-19 Which of the following number/word is 3rd to the left of 62 in Step V?

01. Trunk 02. Unique
03. Zoo 04. 87

05. None of these

Q-19 WU v H 62 P arfi 3R Y Hd Goa/eres P AT R?

01. Trunk 02. Unique
03. Zoo 04. 87
05. 370 ¥ PIs gl
Solution for Question 19 Ans Key: 2

Input: Unique S5 87 Contain Trunk 13 Goes 44 62 Zoo.
Step I. Contain Unique 55 Trunk 13 Goes 44 62 Zoo 87
Step II. Contain Goes Unique 55 Trunk 13 44 Zoo 87 62
Step III. Contain Goes Trunk Unique 13 44 Zoo 87 62 55
Step IV. Contain Goes Trunk Unique Zoo 13 87 62 55 44
Step V. Contain Goes Trunk Unique Zoo 87 62 55 44 13
Step VI. 3720 21 26 87 62 5544 13

hi %1YC : Unique 55 87 Contain Trunk 13 Goes 44 62 Zoo.
TRUTL. Contain Unique 55 Trunk 13 Goes 44 62 Zoo 87
IRUT L. Contain Goes Unique 55 Trunk 13 44 Zoo 87 62
TRUT 1. Contain Goes Trunk Unique 13 44 Zoo 87 62 55
TRUTIV. Contain Goes Trunk Unique Zoo 13 87 62 55 44
TRUTV. Contain Goes Trunk Unique Zoo 87 62 55 44 13
TRUT VL. 3720212687 62 5544 13

Q-20 Find the difference between the numbers, which is 2nd from the right end in Step II and 3rd from the right end in Step TV?
eng

01. 35 02. 25

03. 45 04. 95

05. 15
Q-20 TRUNHIH BRI I R TR0V H g BR I ) e & e SfaR J1d diford |
hi

01. 35 02. 25

03. 45 04. 95



05. 15
Solution for Question 20

Ans Key: 2

eng Input: Unique 55 87 Contain Trunk 13 Goes 44 62 Zoo.
Step I. Contain Unique 55 Trunk 13 Goes 44 62 Zoo 87
Step II. Contain Goes Unique 55 Trunk 13 44 Zoo 87 62
Step III. Contain Goes Trunk Unique 13 44 Zoo 87 62 55
Step IV. Contain Goes Trunk Unique Zoo 13 87 62 55 44
Step V. Contain Goes Trunk Unique Zoo 87 62 55 44 13
Step V1.3 720 21 26 87 62 55 44 13

hi %1YC : Unique 55 87 Contain Trunk 13 Goes 44 62 Zoo.
TRUTL. Contain Unique 55 Trunk 13 Goes 44 62 Zoo 87
TRUTIL. Contain Goes Unique 55 Trunk 13 44 Zoo 87 62
TRV 1. Contain Goes Trunk Unique 13 44 Zoo 87 62 55
TRUTTV. Contain Goes Trunk Unique Zoo 13 87 62 55 44
IROTV. Contain Goes Trunk Unique Zoo 87 62 55 44 13
TRUTVI. 3720212687 62 5544 13

Q-21  Whatis the position of “Zoo” in Step IV?
eng

01. 5th from left end 02.  4th from right end
03. 3rd from left end 04. 4th from left end

05. 6th from left end
Q-21  TRUIV H“Zoo” HT T RIF 87

01. §¢ R Y yigar 02. A BRI AT
03. S BRI FRRT 04. ¢ BRI A1
05. U IR Y TAT

Solution for Question 21

Input: Unique 55 87 Contain Trunk 13 Goes 44 62 Zoo.
Step I. Contain Unique 55 Trunk 13 Goes 44 62 Zoo 87
Step II. Contain Goes Unique 55 Trunk 13 44 Zoo 87 62
Step III. Contain Goes Trunk Unique 13 44 Zoo 87 62 55
Step IV. Contain Goes Trunk Unique Zoo 13 87 62 55 44
Step V. Contain Goes Trunk Unique Zoo 87 62 55 44 13
Step VI. 3720 21 26 87 62 55 44 13

§Yc: Unique 55 87 Contain Trunk 13 Goes 44 62 Zoo.
TR |. Contain Unique 55 Trunk 13 Goes 44 62 Zoo 87
TR |I. Contain Goes Unique 55 Trunk 13 44 Zoo 87 62
IR [Il. Contain Goes Trunk Unique 13 44 Zoo 87 62 55
IRUT V. Contain Goes Trunk Unique Zoo 13 87 62 55 44
IRU[ V. Contain Goes Trunk Unique Zoo 87 62 55 44 13
TRUTVI. 37 20 21 26 87 62 5544 13

Ans Key: 1

Passage for Question 22, 23, 24, 25, 26 (ST-2049RRBPOMAINS(20-24R)2020)
eng Passage

Study the information carefully and answer the questions given below.

In a certain code language,

“Cabinet Committee Economic Affairs” is written as ‘713 9V4 8R4 7V3'
“detailed commercial assessment” is written as ‘10M3 8V4 1024’

“haul international routes™ is written as ‘1376 4F2 6V3’

hi Passage

fFafafad TFeR &1 eaFyde sraraa ST 3w faw e usl & SR difvm|

Toh FAf3d e 4,

“Cabinet Committee Economic Affairs” &Y 713 9V4 8R4 7v3' ferar Sirar %
“detailed commercial assessment” &1 <10M3 8V4 1024 foram ST %

“haul interational routes” BT *13Z6 4F2 6V3* forar Srar %

Q-22  Which of the following words could be coded as ‘M1 6R3°?



eng

01. Brand Sale 02. Brand Retail
03. Brand Tour 04. Tour Retail

05. None of these
Q-22 FUAIPHAIYE SM1 6R3 & U X FHeag fbar o I g2

01. Brand Sale 02. Brand Retail
03. Brand Tour 04. Tour Retail
05. T8 I PIs g
Solution for Question 22 Ans Key: 2
eng Opposite letter of the second last
letter in the word.
ROUTES 6V e Ttal number of
vowels in the word
Toatal number of
letters in the word.
hi falall e letter of tl COr
etter in the wi
ROUTES 6V3 Tatal number of
|' ‘.- Al | |
ttersint
Q-23 Which of the following represents the code for ‘fulfilment’?
eng
01. 10M4 02. 10N4
03. 10M5 04. 10M2
05. None of these
Q-23 U HI DT I “fulfiment & HIS &I BT BT 82
hi
01. 10M4 02. 10N4
03. 10M5 04. 10M2
05. X I BIS g
Solution for Question 23 Ans Key: 5

i Opposite letter of the second last

letter in the word.

ROUTES

v Total number of

letters in the word.

Opposite letter of the second last
letter in the word.

6V3

‘ vowels in the word
Toatal number of

6V3

v Total number of

‘ vowels in the word
Toatal number af

letters in the word.

ROUTES

Q-24  Which of the following could be coded as ‘8U3’?
eng



01. Rectify 02. Unified
03. identify 04. continue
05. None of these

Q-24 FEAIGY 83U F TUH FHeag fvar o1 Iwdr g2
hi
01. Rectify 02. Unified
03. identify 04. continue
05. T8 q PIs g
Solution for Question 24 Ans Key: 3
£0g Opposite letter of the second last
letter in the word.
ROUTES 6V3 Total number of
vowels in the word
Toatal number of
letters in the word.
hi Opposite letter of the second last
letter in the word
ROUTES 6V3 Total number of
loatal nur
tters in t
Q-25 Which of the following is the code for ‘Computer’?
eng
01. 703 02. 8v4
03. 7v3 04. 8V3
05. None of these
Q25 fmH T I “Computer’ & folT T T 87
hi
01. 703 02. 8v4
03. 7V3 04. 8V3
05. 390 q DI g
Solution for Question 25 Ans Key: 4
eng P letter of t I
etter in the wo
ROUTES 6V e Ttal number of
vowels in the word
Toatal number of
letters in the word.
hi Opposite letter of the second last
letter in the word.
ROUTES 6V3 Total number of
vowels in the word
lToatal number of
letters in the word.
Q-26  Which of the following will be the code for ‘Electrifying’?
eng

01. 12M4 02. 12M5
03. 11M5 04. 11M4



05. 12M6
A “Blectrifying’ % oY o1 oie 82

01. 12M4 02. 12M5
03. 11M5 04. 11M4
05. 12M6
Solution for Question 26 Ans Key: 1
eng Opposite letter of the second last
‘ letter in the word.
ROUTES 6V3 Total number of
vowels in the word
L Toatal number of
letters in the word.
hi Opposite letter of the second last
‘ letter in the word.

Q-27

ROUTES 6V3 Total number of

l

Each of the questions below, consist a question and three statements numbered I, II and III. You have to decide whether the data provided in
the statements are sufficient to answer the question. Read the three statements and Give answer

In which direction is statue facing?

I. The statue’s shadow falls at 4 O’ Clock to the right of the statue.
II. The statue is towards the south end of the city.
III. In evening time.

01. Ifthe data in statement I and II together are 02. Ifthe data in statement I and I together are sufficient to answer the question, while the data in
sufficient to answer the question, while the statement II are not required to answer the question.
data in statement I1I are not required to
answer the question.

03. If the data in statement IT and 111 are 04. If the data in all three statements I, 1T and I1I together are necessary to answer the question.
sufficient to answer the question, while the
data in statement I are not required to
answer the question.

05. Ifthe data in all the statements, I, IT and III
even together are not sufficient to answer
the question.

12 fou Tyl uy §, T Uy 3R 9 SU HHIP 1, 11 307 11 feu e g1 smusp) fufa @4 @ fp syt § fear mar srer uy &1
IR 31 & fore yafw @ ar 7€) | A1 wy=1 #1 ufew sz 3wr o

T forg e Y sk I &2

1. 9] B BT 4 99 P e iR s A 71
1. 9l TR & R0 SR B 3R
TIL ] & IH7I TR

01. TfE HY=T 1 3R 11 H far T grer 02. Tfe HYT 1 3R 111 H feum a7 s1er fieen Uy &1 IR 37 & forw yafw 8, Siefes vy 1
AR Uy HIIWR S omyafay, 7 fear mar Ser vy &1 IR 3 & ol sawgs T8l |
Safes B 11 ¥ foar T et Uy &1
JWR 3 & o sirawgs TR

03. gREHYTI IR A RAT TSI UY 04. TS AT HUAT L, 11 3R 11 H & a7 STet fArdre: Uy &1 IR 37 & e 3o 2|
BT IR 27 & forw wuf g, wiafes wu=
1 faa 7T S1e Uy 1 SR 3 & forw
IS TG

05. gfe =i ey, 11 3R 1 H fear ma

STeT frelTa? ot U &1 IR 81 & forw
qafe T gl




Q-28

eng

Q-29

Each of the questions below, consist a question and three statements numbered I, II and III. You have to decide whether the data provided in
the statements are sufficient to answer the question. Read the three statements and Give answer

What is the code for ‘INCREASE’ in a certain code language?

I. In a certain code language ‘increase your business’ is coded as ‘lap duh pud’ and ‘mind your language’ is coded as ‘hpu dap lap’.
II. In a certain code language ‘increase fast and win’ is coded as ‘phl pud Iph hap’ and ‘go and move ahead’ is coded as ‘hap pul pah Iph’
II1. In a certain code language ‘move your legs’ is coded as ‘pah lap plh’ and ‘legs go on’ is coded as “pal plh pul’

01. If the data in statement I and II together are 02. If the data in statement I and III together are sufficient to answer the question, while the data in

sufficient to answer the question, while the statement II are not required to answer the question.
data in statement III are not required to
answer the question.
03. Ifthe data in statement II and III are 04. If the data in all three statements I, 11 and III together are necessary to answer the question.

sufficient to answer the question, while the
data in statement I are not required to
answer the question.

05. Ifthe data in all the statements, I, IT and III
even together are not sufficient to answer
the question.

R 3T Uyl uy #, T Uy 3R 9 Y HHIS 1, 11 31 111 fou 78 &1 smusp) fHvfa /=1 @ fop wu=t A fear  srer vy 1
IR 37 & forw vnfw 2 a1 91| St syt =) ufzw 3ie 39 Ao

T FAfYd e UV & “INCREASE” &1 &5 1 87

1. U fAfga h YT T “increase your business’ R lap duh pud’ QT ST % 3R < mind your language’ Cal ‘hpu dap lap’ INECISIN %I
II. U ﬁf\%@ UTST H ¢ increase fast and win® 1 © phl pud Iph hap’ NECIEIN % 3R« go and move ahead’ CAR hap pul pah Iph’ SECISII] %I
11 U Afga h HINT T * move your legs’ Pl pah lap plh’ S| Gﬂ?ﬂ% 3R ‘legs go on’ Eal “pal plh pul’ LG Gﬂ?ﬂ%l

01. Tfe HY=1 3R 1 H fear mar grer 02. i HY= 1 3R 11 H fear 7y Sret fares U8 o1 SR o & fok uaid §, Safe sy 11
R Uy ISR Sl gaias, & g T Srer Uy o1 IR 37 F o g Tei |
Safe Sy 111 H foar a1 e uy &1
IR & & oY sfazas 785 |

03. e PYT IR M A AT ST Uy 04. Iie AT HUT 1, 11 3R 111 H T T STt fHeiierr U o1 IR 2 P o gz g |
BT IR a7 & forw vaf B, Safes wu=
1 fea 77 72T U8 T IR o & ferw
aH T8I |

05. gfe T HYATL, 1 3R m & fear
S1eT reey o U% BT IR 2 & fow
g Teig!

Each of the questions below, consist a question and three statements numbered I, II and III. You have to decide whether the data provided in
the statements are sufficient to answer the question. Read the three statements and Give answer

How old was Aniket on 30th July 2012?
L. Aniket is six years older than his brother Prabir.

II. Prabir is twenty-nine years younger than his mother.
II1. Aniket’s mother celebrated her fiftieth birthday on 15th June 2012.

01. Ifthe data in statement I and II together are 02. If the data in statement I and III together are sufficient to answer the question, while the data in

sufficient to answer the question, while the statement II are not required to answer the question.
data in statement III are not required to
answer the question.
03. Ifthe data in statement II and III are 04. Ifthe data in all three statements I, 1T and III together are necessary to answer the question.

sufficient to answer the question, while the
data in statement I are not required to
answer the question.

05. Ifthe data in all the statements, I, II and I1I

even together are not sufficient to answer
the question.

12 fou Uyl uy A, T Uy 3R 9 HU HHP 1, 11 307 11 few e g1 smusp) fufa @4n @ fp syt § fear mar srer uy +1
IR 31 & fore yafw @ ar 7€) | A1 wy=1 #1 ufew sz Iwr o

30 TS 2012 B 3D DI g farat oo

1. 3P, TR Y s seT
I TSR 3O 77 ¥ Iy oy Bler gl



L (b d DT AT 15 ST 2012 DI (U1 GGl SHIGT HARTI.

01. e HYT 1 3R 11 H foar mar srer 02. IS HYF 1 3R 11 H fam a7 STet TR U o1 IR o & fore yaie g, Siafes vy 11
AR Uy BIIWA F wmafge,  # fearmarseruy 13w 3 & o siawus 781 2|
Safd wy= 11 ¥ foar T Srer Uy &1

IR & & AT siaxes A8 5 |
03. USRI F A TSI Uy 04. TS A HUAT 1, 11 3R 101 H &2 71 STet e Ue &1 SR 3 & o $i1aaas & |
&I IR 37 o forg qat &, STefd HY
1# o1 711 31T U9 1 IR 3 F o
IS T |
05. I A=t L, 11 SR 1 H fer T
S1el ey W Uy &1 IR 3 F ol
BiSEEE
Q-30 Each of the questions below, consist a question and three statements numbered L, II and I1I. You have to decide whether the data provided in
eng the statements are sufficient to answer the question. Read the three statements and Give answer
Eight students A, B, C, D, E, F, G and H are sitting around a circle facing to the centre of the table. How many students are sitting between H and A?
I. A issitting third to the left of B, who is seated third to the left of D. G sits on the immediate left of F.
II. F sits second to the right of B, who is second to the right of G.
II1. F is sitting third to the right of C. H sits second to the right of F and is not the immediate neighbour of D.
01. Ifthe data in statement I and II together are 02. If the data in statement I and III together are sufficient to answer the question, while the data in
sufficient to answer the question, while the statement II are not required to answer the question.
data in statement III are not required to
answer the question.
03. Ifthe data in statement II and III are 04. Ifthe data in all three statements I, II and III together are necessary to answer the question.
sufficient to answer the question, while the
data in statement I are not required to
answer the question.
05. Ifthe data in all the statements, I, IT and I1I
even together are not sufficient to answer
the question.
Q-30 =4 fou Tyl uy ¥, U Y SR A7 HuUT AP 1, 11 3R 11 AT TE F1 smupt Fyofa @ @ 6 ot A faar mar ster ws &1
IR & & forg vafe g a1 48| it wu=1 o1 ufey ofiz Sw diford |
3116 fa=mif A, B, €, D, E, F, G 3R H U& J0 & dRI 3R IS & Bg $I IR 40 D 90 ¢ | H 3R AP o fovat faemdf a3 g2
I. A B® N AR VMU ES[E, Sl D T4 R WM W SS181 G, F b 31 &Y S3T18 |
IL F, B % I g ®IM W 9618, Sl G & < G 5 | _
I F,C % e RF R ISTE | H, F P <l ¥R RIF TR 3T 7 3R D HT Hdedd TSR 7T 7 |
01 gRepuTr R A Rarmarser 02 gy 1 3R 1 # fgm may Srer el U 1 TR 3 o fog yait &, Wi By I
MR Uy BISR A P U gaia s,  H fa Tar Srer U o1 IR 34 & o Sawas Te138 |
Sfsifch Y 111 H [adl 71T SicT U bl
IR & & AT simaxes A8 5 |
03. I FHUA 1SR F A TSI Uy 04. AfE A BT 1, 11 R 101 H &z 7 Stet Freens Ue &1 SR o & o S1asaas & |
BT I < & forg Tl &, Sifs du
1# feam 711 1T U9 1 IR oA F ol
IS Tl |
05. I A=t L, 11 SR 1 H fer T
SeT FeTenR it % &1 IR & & ferg
i i e
Solution for Question 30 Ans Key: 2
eng




Passage for Question 31, 32, 33, 34, 35 (ST-2049RRBPOMAINS(6-10R)2020)
eng Passage

Study the following information carefully and answer the given questions.

A BCDEF G and H are eight family members sitting around a circle facing the centre but not necessarily in the same order. Each of them has a different age
except B and F. There are 4 females and 4 males in the family.

E, who is 31 years old, sits second to the right of his sister, who is 43 years old and on the immediate left of his wife. The boy C, who is twice as old as his sister,
sits third to the right of E. F, who is 10 years older than G, sits second to the right of her husband H, who is 18 years older than D. H is not an immediate neighbour
of his sister D. B sits second to the right of A and has two children. G, who is 19 years younger than D, is not an immediate neighbour of E. H sits second to the
right of E, who is the brother of D. Uncle of C is 60 years older than A. G is the son of H.

hi Passage

fFrafafaa sFeR &1 aryde sreas Fifv siv i fiw e usi & SR difvm|

WW%%WABCDEFGH&HH ww%aﬁ@v@aﬁﬁwmm%%@ﬁﬂmm%wmﬁ@mﬁg
TUTF DI DS, TdD oulcmar?r 21 URaR H 4 AT quT4 TV & |

E, S 31 9% 312, 98 S0 98 & gﬁwﬁruﬁa% Gﬁ4zaa‘ae°r%amamﬂ°rua°r$aﬁawraéa%|mc S 37Ot 989 ¥ G 81
T2, EF <0 R ™A TR ISR F, 1 G Y 1038 ST 8, 307 Uf H P o @R VMR IR, ST DY 18 99 §12 | H 301 8 D b1
fdpean USIE T2 21 B, A F o qER I TR 331 8 741 IGH & TaH 21 G, S D F 19 TY BT 2, E P Fiead TS 71| H, E ¥ o g
ARSI, NDBTHERI C P IPAAY 60 TS 81 G, HPI AR

Q-31 Who amongst the following is the oldest member in the family?
01. G 02. B
03. D 04. E

05. None of these

Q-31 i & 3 i uRaR & a9 Fe1 9w 32

01. G 02. B
03. D 04. E
05. STH I DIS 7RI
Solution for Question 31 Ans Key: 5
e F3

Q-32  How many of the given eight persons are older than H’s son? (including H)
eng



01. Two 02. Three
03. Five 04. Four
05. None of these

Q-32 feuTu 33 T # 9 fd= H P 7 A §S 82 (H 1 A Hd §U)

hi
01. QI 02. dF
03. Tig 04. TR
05. 90 q DI g
Solution for Question 32 Ans Key: 3
eng i
+ F34

= +
A C g
= — & D — H~ E
+ |
A C G
Q-33 Which of the following options represents the group of females?
01. B,D,E 02. A,G,C
03. A,C,B 04. F,D,G
05. None of these
Q-33 TwfaRed famel & @ &9 a1 Afgensli & I4g &I G 62
01. B,D,E 02. A, G,C
03. A.C,B 04. F,D.G
05. 390 q HIs g
Solution for Question 33 Ans Key: 5
eng N
E F 34




Q-34  What s the sum of the ages of D and C?
eng

01. 41 02. 46
03. 45 04. 64

05. None of these
Q-34  DTUTC B 3G I AN a1 82

hi
01. 41 02. 46
03. 45 04. 64
05. 378 Y P g
Solution for Question 34 Ans Key: 3
eng N
+ F34

— e I e
B— _— E* D — H — F
|
+ [~
A C G
Q-35 Who among the following sits second to the right of B?
01. H 02. C
03. G 04. D
0S. None of these
Q-35 FHfafed & ¥ &F a1 afdd B & o @R RIM R d318?
m
01. H 02. C
03. G 04. D
05. 90 q PIs 1G]
Solution for Question 35 Ans Key: 2
eng N
4 F 34




Passage for Question 36, 37 (ST-2049RRBPOMAINS(4-5R)2020)
eng Passage

In the following questions some symbols ©, #, *, $ and @ are used with the following meaning as illustrated below:

‘M © N’ means ‘M is smaller than N’

‘M# N’ means ‘M is either smaller than or equal to N’

‘M % N’ means ‘M is greater than N’

‘M § N’ means ‘M is either greater than or equal to N’

‘M @ N’ means ‘M is neither smaller than nor greater than N’

Now in each of the following questions assuming the given statements to be true, find which of the two conclusions I and II given below them is/are definitely true
and give your answer accordingly.

hi Passage
fFausid oo udiel o, #, *, $ 3R @ &1 yan Fafarad orf & far mar 8, s fo 9 cwfor mar g:

MONFFTFEM, NTIreT
‘M# N'FT 3% g ‘M, N & Al Gier g 41 aas g
‘M% N FTTEM, NTTST
‘M $ N’ &7 314 g ‘M, N AT 1 a7 g AT a8 g
M@NFTAFZM, NTTASRITE =TT

amﬁﬁg@au@a?wﬁ,%anam—«ﬁaﬁwmﬁ@,Wm%a‘rﬁmwﬁﬁrrﬁﬁm@ﬁr@aww%m%@,wmw

Q-36  Statements:
M#R,R©J,J#H
Conclusions:

IL. M#H
I. ROH

01. TIfonly conclusions I is true. 02. Ifonly conclusions II is true.

03. TIfeither conclusions I or conclusion II is 04. TIfneither conclusions I nor conclusions I is true.
true.

05. Ifboth conclusions I and II are true.
Q-36 DY
hi M#R,ROJ,J#H

e

I. M#H
II. ROH

01. It DHad ey 1 9T B 02. e Pad ey 1 & 2|
03. e ey 1T ey nIEt g1 04. Tfe T ey 17 €1 e 1 9gt B
05. g Qi fspd 1 SR 1T

Solution for Question 36 Ans Key: 2
eng M<R<]J<H

M<H(X )

R<H ( \/)
B M<R<J]<H

M<Hl ¥ )



R<H ( \,/ )
Q-37  Statements:
eng V#S,SOL,LO]J
Conclusions:

I. VOL
I.SOJ

01. If only conclusions I is true. 02. Ifonly conclusions II is true.

03. TIfeither conclusions I or conclusionIIis ~ 04. Ifneither conclusions I nor conclusions I is true.
true.

05. Ifboth conclusions I and II are true.
Q-37 PY:
hi V#S,SOL,LOJ
e

I. VOL
I.SO©J

01. IS Bad Fspy 1 TET 1 02. e Haa ey nIE B
03. gieara sy Ry nadigl 04, T T e 19 8 e 1T g1
05. e i frsp 1 3R 11T &

Solution for Question 37 Ans Key: 5
VES<L<<]
V<L \/ )
S<] (/)
VESS<L<K]
V<L)
S<J ( \/ )

Passage for Question 38, 39, 40 (ST-2049RRBPOMAINS(1-3R)2020)
eng Passage

Read the following instructions carefully and answer the given questions.

From point A, a person walks 12 meters towards north-east direction reached point B. Then he takes a 90° right turn and walks 24 meters and reached point C,
then he turns to the east direction and walks 10 meters. After reaching point Z, he saw a river, which is in the north-east direction of point C.

hi Passage

oo i e am 3 ug ok feu M usi & I <
fiig A9, U st ITR-Ud famm 1 ofiR 12 Fiex Feran 8 SR g B R ugan 81 e a5 90° 2 sh?qgﬁ%sﬁwuﬂam% IR fig c R

Ugadr g, R a8 qd fa=n &1 3R gar g 3R 10 Hiex Iadr g | foig 2 TR Ugan & d1e, 311 U 41 3, Sl fig ¢ 3 SwR-ud fe=n A 81
Q-38  Whatis the distance between A and F? (If point F is the midpoint of line BC)
eng
01. 20 meter 02. 32 meter
03. 7 meter 04. Can’t be determined
05. None of these
Q-38 ARFF IS QA F 7 @ &g F, I B H1AHA NG §)
hi
01. 20 HieR 02. 327HIeR
03. 7R 04. Feffea gt fopan s wwar
05. 399 I BIS g
Solution for Question 38 Ans Key: 5

eng l;&lver

4



~ b
12m = ~ );wer
12m e 7
241~ s e
A . ~River
1Zm A~
12mN, ~
C 10m .
hi River
8 A7
&+
- _
oA S ] River
12m ~ 4
24~ o P
A . ~River
12m hY Peiey
12m P =
c 10m .
Q-39 If point F is the midpoint of line BC, and Point ABF makes an Equilateral triangle. Then what is the difference between the half distance of line AF and the
eng half distance of line BZ= 26?
01. 20 meter 02. 32 meter
03. 7 meter 04. Can’tbe determined
05. 26 meter
Q-39 I g F, ¥@1 BC w10 g © 3R foig ABF U wHaTg Ay s=ran 8 | d Ufdd AF &1 omeft ot 3R dfad Bz =26 @1 3meft ot & m 3R
hi &7
01. 20 HleX 02. 32HIR
03. 7Hl? 04. Fyuffed &7 foar & gebar
05. 26 Hic?
Solution for Question 39 Ans Key: 3
eng
12m \-\‘: ™
‘. .).;I'-I"l"* ]
o \ . River
12m" 5 N
N
C 10m
hi
/ 12m = 30 . -
A . \ﬁi\ér
12m h Pty
12m v .
c 10m .
Q-40  Whatis the position of the river with respect to the initial position of the person?
eng
01. None of these 02. North-east
03. East 04. Can’t be determined
05. South-east
Q-40 <afFd @ IRMe R F G & 7 & Rufg g2
hi
01. X I BIS g 02. IW-yd
03. gd 04. Ryfia 78T o o Tt
05. Eforgd
Solution for Question 40 Ans Key: 4

eng

Aiver
F

#
=3 )



o N Riv‘er
12m ~ P
12m ~ ’
24~ e e
A F i
12m ™ -:E":fr
12m / ~
€ 10m .
hi River
B r
~ .
130 ~ 3 ; Elver
12m =~ P
24~ R .~
A £ ’
12m \ S
12m 7 ~
C 10m :
Q-41 In each of the following questions, read the given statement and compare the Quantity I and Quantity II on its basis. (Only quantity is to be
eng considered)
Quantity 1- A pipe can empty a tank in 40 min. A second pipe with diameter twice much as that of the first is also attached with the tank to empty it. The
two pipes together can empty the tank in how much minutes?
Quantity 2- An amount will become 8 times of itself in 3 years with compound interest. Then in how much time it will become 16 times of itself?
01. Quantity 1 > Quantity 2 02. Quantity 1 <Quantity 2
03. Quantity 1 > Quantity 2 04. Quantity 1 < Quantity 2
0S. Quantity 1 = Quantity 2 or Relation can’t be
established
Q-41 Fafafee vde uy & AT 5T $Y=1 ) o I uS 3R AT 1 3R 6T 2 3 ga I | (@ aa q= P g gan )

m1-wm4oﬁﬂfﬁw%aﬁﬁaﬂaﬁ%’|Eg%u@mm,mmwaw%sﬁaﬁﬁaﬂﬁ$%u%ﬁ@§w%|
TH 1Y 341 UT3Y ¢ P fha fire o et 3R Tehd 2
HTAT 1- DI AU TehqfG SIS DI e J 3G81 & T 31 AT 81 STl | , ) a8 S{UHT 16 T[T faar= st & g 2

01. HEAT1 >HMAT2 02.
03. HET1>HAT2 04.

05. TET 1 = AE1 2 1 TH R0 gt
fooar o1 & ar

Solution for Question 41

Quantity 1—
Efficiency o square of radius of pipe
Ratio of efficiency pipes A: B=1:2% = 1:4
Total volume = 1x40 = (1+4) x t
t=8 min, So Quantity 1 =8
Quantity 2—
If 8 =23 times in 3 years
2! times in 1 year
Then 16=2* times in 4 years, So Quantity 2 =4
Quantity 1 > Quantity 2

HEAT 1 <HEAT2
HEAT 1 <HEAT2

Ans Key: 1

T 1-
& o UTSY 1 Frea T avf
UTS Ul 1 G&fdT BT SIUTd A: B=1:22=1:4
FH AT = 1340 = (1+4) x t
t=28 e, 3fd: A 1 =8
T 2
g 8 =23 AT 3 Nl A
21T 1 99 |
al 16= 24 TAT 4 IST B, 3 AT 2 = 4
HEAT 1 >HET 2

Q-42

eng

Question below contains two quantities I and II. Find the values of quantities and mark the appropriate option as your final answer.

In a class of 800 students, 56% students are boys. The average weight of all the boys is 75 kg and that of all the girls is 55 kg.

Quantity I: What is the average weight of class?

Quantity II: If a boy of 80 kg and a girl of 50 kg is added in the class, then what will be the average weight of class?



01. Quantity I > Quantity II 02.  Quantity I < Quantity II
03. Quantity I > Quantity II 04. Quantity I < Quantity II

05. Quantity I = Quantity II or relation can't be
established

Q-42 -RfRuuuy &S ammd 1 37 1 &1 AEnsit F Yol &1 uar e 3R 3uA Sifed IR F T U A Iuyw fAweu w) Rifga w11
800 BT DI BT H, 56% B A5 8 | TH TSB! BT 3 Gd ao 75 fhrarnd g 3R v asferal &1 aw 55 fbarm 8|

T 1 & T 3G I T 82
HET 1I: 3R H&T H 80 forall b1 TSHT MR 50 fhall Bt ASH! B! SIST ST B, Tl BT BT 3Gd aoi T g2

01. TEATI> AETH 02. AEATI< HEATI
03. HATI>HEAT 04. OEATI<HATI

05. T =AET 1 31 FyfRa Tet fear o
gl

Solution for Question 42 Ans Key: 1

eng There are 448 boys and 352 girls
Total weight of the girls is 19360 kg
Total weight of the boys is 33600 kg
So the average weight of the class is 66.2 kg
But if the boy and a girl increases the average of their become 65 kg which minimise the whole average.

SN 448 TSP 3IR 352 AUl &

TSfHal BT dHdt ao 19360 fharm™ 8

TSP! BT B ao 33600 fHaAUTH 7

T el BT 3T I 66.2 fhama §

QT 3R ASHT 3R ASH! I 65 fhall b §¢ SId § off IR 3d B FH B el 8 |

Q-43 In each of the following questions, read the given statement and compare the Quantity I and Quantity II on its basis. (Only quantity is to be
considered)

Quantity 1- A vessel is filled with liquid, 4 parts of which are water and 5 parts syrup. How much of the mixture must be drawn off and replaced with
water so that the mixture may be half water and half syrup?

Quantity 2- An alloy contains Brass, Iron and Zinc in the ratio 2:3:1 and another contains Iron, zinc and lead in the ratio 5:4:3.1f equal weights of both
alloys are melted together to form a third alloy, then what will be the part of lead per kg in new alloy?

01. Quantity 1 > Quantity 2 02. Quantity 1 <Quantity 2
03. Quantity 1 > Quantity 2 04. Quantity 1 < Quantity 2
0S. Quantity 1 = Quantity 2 or Relation can’t be

established

Q-43 FEfifad vd® vy o AU gU sy & oI I U3 3% AT 1 3R °IET 2 B g1 B | (@ad I B g o &)

Quantity 1- Th UF H a¥af Ue1df WR1 g3 &, o 4 o Uil & 3R 5 R RRu & g1 f 9arsd 39 v & fba v &) il @ sed
s T s i e s ey R, o A A 31 o G g 1
Quantity 2- T& ¥ , Eal aur o T , HI U B o YT P SRTER
mﬁ%ﬂwmﬁé ﬁ%mwﬁma&%qﬁﬁ%m@ﬁ oS FI s T BRI 2

01. HET1>HHAT2 02. HET1 <HHEAT2
03. HET1>HHAT2 04. HAET 1 <HET2

05. HET 1 = A3 2 1 Gra RTUd el
oo o gemar

Solution for Question 43 Ans Key: 2

eng Quantity 1 —
Suppose the vessel initially contains 9litres of liquid.
Let x litres of this liquid be replaced with water.
(4-(4x/9) +x) = (5-(5x/9))
X=9/10
So, part of the mixture replaced = 9/10 x 1/9 = 1/10 = Quantity 1
Quantity 2 —
In the first alloy,
2:3:1 =6 x2
5:4:3=12
Multiply 2 to make it equal,




4:6:2

5:4:3

Adding all,

4:11:6:3=24

3/24=1/8 = Quantity 2
Quantity 1 < Quantity 2

hi HET —
A Y fob orcf & = § 9 e cRa g g |
Y RA P x e B U A 98d 2
(4-(4x/9) +x) = (5-(5%/9))
X =9/10
I, fsor o1 fe e faar=9/10 x 1/9= 1/10 =HEAT 1
HET 2 -
Ty fAgurg o,
2:3:1=6 x2
5:4:3=12
TRIER HA & o0 2 J O HA W,
4:6:2
5:4:3
Toft Y Sl WR,
4:11:6:3=24
3/24=1/8 = AT 2
HAT 1 <HHAT 2

Q-44 Question below contains two quantities I and II. Find the values of quantities and mark the appropriate option as your final answer.

Quantity I: Two trains of length 240 metres and 280 metres are running towards each other on parallel lines at the rate of 84 km/h and 60km/h
respectively. How much time (in seconds) will they take to cross each other from the moment they meet?
Quantity ITI: Two trains of length 180 metres and 220 metres are running in same direction on parallel lines at the rate of 90 km/h and 36 km/h
respectively. How much time (in seconds) will they take to cross each other from the moment they meet?

01. Quantity I > Quantity II 02. Quantity I <Quantity II
03. Quantity I > Quantity II 04. Quantity I <Quantity II

0S. Quantity I = Quantity II or relation can't be
established

Q-44 AR TT uy A aEmd 1 3% 1 &1 At F el BT yar e AR U Sife IR F T A Uy fAwey B Rifga 11

AT 1: 240 HITR 3R 280 HeX P GaTS arcll &l - HRr: 84 B/ Gel 3R 60 e/ Hel 3 e FHATR 11 0R T g $1 3R 4
TSI e 1 3 e & &0 Y UH-IR B UR IR | (a1 99T (@h S H) a2

T 11; 180 HeR SR 220 Hie 1 oial aretl & o sHT: 90 el / et 3R 36 fobeft/ viet b ax A JHIIAR sl R U &1 fon & =it
e A e & &0 Y UH-@R B IR A A fbd1 90g @b T a2

01. O=AT1> AATI 02. AEATI< HEATI
03. HET1>HEAT 04. OEATI<HETI

05. HET =AET 11 a1 Fufia T8t fear o
gl

Solution for Question 44 Ans Key: 2
eng 240+280
40
And, 180+220
15

13sec

=26.67sec

2404280 _ .o
EL

g
3R, 1804220 0 ooa

15

Passage for Question 45, 46, 47, 48, 49 (ST-2049RRBPOMAINS(21-25M)2020)
eng Passage

Read the following graph carefully to answer the questions

The bar graph given below represents the time taken (in days) by 5 persons individually to finish a work when they work at a certain percentage of their actual
efficiencies that is given in the table.

70

60

B0 |



50 48 45
42
” 40
E’ 30
30
20
10
0
A B C B £
Person A B C D E
= 1 1 (1] 7 1
% of f:lctual 62— % 57- 9 60% 63— % I
Efficiency 2 d 1 ’
hi Passage
T 3T oM o o A 3R o W T s BT R

i fear T IR W 5 afdaal gRT S fhddt B o IR B & forg T (et ) 1 g=ifar B, 59 3 anferest & &) 1S st arafdes e &
o AifEd ufoerd R a7

70

60 |

50

I 48
42
40 |
30 |
20 | v
10 | - —_—
0 S
A B

30

60
| I
D E

[ = .
I A B e D E
ElIEED e 1 60% 7 1
62-% | 57=% ° | 63=% | 53-%
SqOET = % 2 7 11 3
Q-45 When all of them work at their actual efficiency, then who will take minimum time to finish the work?
eng
01. D 02. C
03. A 04. B
05. E
Q-45 I Tt ot arafaes prierar @ rf R O T B & H B Sl T HRm 2
hi
01. D 02. C
03. A 04. B
05. E

Solution for Question 45

Ans Key: 2

eng

Time taken by them with their actual efficiency
z 4
T,5=48=30das. T, =%><42 = M4days. T, =§><30 =18days

Tp= % x44 = 28days, TE=1E5 x60 = 32days



Minimum taken by C

. o o~
o D! ARAAD G&dT b I A, B 3R E R el 1 95
Ta-] %48 =30 f&, Tp-1 <42 =24 fe, Tp=£X60 = 32 fad
WWW C gl I?IEII mar
Q-46 Time taken by B to do the work is what percent of time taken by A and E together to do the same work (everyone works at their actual efficiency)?
eng
01. 145% 02. 165%
03. 155% 04. 135%
05. 185%
Q-46 B A TIE THI A 3R E B Y T @ a1t T8I BT faba1 % 8 (TS fad (U=t IRafdd HriemdT ¥ HTH FHRaT §)?
hi
01. 145% 02. 165%
03. 155% 04. 135%
05. 185%
Solution for Question 46 Ans Key: 3
Work done by A and E in one day = _ + _ = _
Time taken by B and C = .__'El::' days
Required 2 — _.‘ = 100 =155
T AR AR EgRI o mn = L 1 _ 31
f“.' ~
B ﬁvcmmum HJ-ILIf ofe
U o, - L3100 21530
Q-47 I[f B, C and D work on a project (with their actual efficiencies) and get a total salary of Rs 4221, then find the share of D?
01. Rs.1134 02. Rs.1085
03. Rs.1875 04. Rs.980
0s. R§ 1254
Q-47 B, C 3R D {3l &1 BI 31Ul aafass HRIGHA 3 I 3R I dod 4221 300 U
B‘r?ﬁwﬁ@mw T I NI 2
01. Rs.1134 02. Rs.1085
03. Rs.1875 04. Rs.980
05. Rs.1254
Solution for Question 47 Ans Key: 1
eng Ratio of Time of B,C and D = 24:18:28
Ratio of Efficiency of B, Cand D = s ; i x =21:18:28
34 18 28
If they complete the work together in same time then ratio of work is also 21:18:28
Then share of D = — 18 <4221=Rs.1134
W B, cﬁvn%wma@m 24:18:28
B, CGﬁTDﬁ&mﬁTWG‘W 1 1 1
34 18 28
gfe 3 Th 1Y U &1 YT T T TR B § df B o1 30Td i 21:18:28 8
D BT 85T - 28 wuzni-re.1134
a
Q-48 F takes 25% more time than time taken by B and C together. What is the total time taken by F and A together to finish the work (when each one works at

eng

their actual efficiency)?



01. Sdays 02. 8days
03. 6 days 04. 9 days

05. 12 days
Q-48 FﬁBGh%,C & 1Y T BT TAH T & THI Y 25% AP GHI AT 5| A F 3R A H S fobe Al § O B (TP Afar 3t
hi TR HRIGHT Y BTH AT R)?

01. 5days 02. 8 days
03. 6 days 04. 9 days
05. 12 days
Solution for Question 48 Ans Key: 4
eng Work done by B and C in one day = L 4 L
18 24 72

Time taken by B and C = TE days

ﬁ = % days

5

Time taken by F =
4

Work done by F and A in one day = i.g.i—l

90 30 9
Time taken by F and A =9 days

Wﬁ?ﬁBGﬁTCQRIW‘MIwM— I
B 3R C R T 71 T =72 days
F GRT Tora T g - .72 20 oy

0 R B F 3R A g1 e T o N
FORAGRIfmanemg =ofeq

Q-49 What is the time taken by A, B and E together to finish the work when they work at their actual efficiency?

Wal

01. ¢ days 02. _ 7 days

[y

03. 4 7 dayg 04. 7

05. None of these

Q-49 A, B 3R ETR o arafas sHrfemar & &rf R ot A ary & o fpam Gt B QR v

01. f; days 02. T ; days
17 17
03. 7 04, 7
g ! days " T
17 17
05. 9 J PIS I
Solution for Question 49 Ans Key: 4
eng Time taken by A,B and E with their actual efficiency

r, %x48=30da}5=1:5. =§><—12= 24days T =]%>< 60=132davs
Work done by A,B and E in one day-_. -

Required time taken- ?ﬂ o_ days

hi WWH&W&EWHA,B@TEWWWW
__T_4§><48=30ﬁ:f, rﬂzéxﬂ:zq fas, rle_ixsoz =32 feq
THfeTHA, B@TE@W%&TWW_
fora wa{ﬂﬂnggzgéﬁq

1 _17

e
2432 160




Q-50

Each of the questions below consists of a question and two or three statements numbered I and II or L, IT and III given below it. You have to

eng decide whether the data provided in the statements are sufficient to answer the question. Read both the statements and give answer:
What is the length of the train X?
I. Two trains X and Y running in opposite directions and cross each other in 25 seconds.
IL. The length of the train Y is 320m and the difference between the speeds of trains X and Y is 14 km/h.
II1. The ratio of the speed of the trains is 19 : 26.
01. OnlyIandII 02. Only IT and IIT
03. Only I and III 04. None of these
05. All of these
Q-50 "Rt mudsuyATs Uy IR T ITHUT IR IATL I sﬁ'unﬁqmzél 3TUH! gg a9 BT g11 foh Yy o faw mw
hi BT U BT IR 3 ¥ 11T vate a1 A1 QAT A wu B U iR I
X P TS bt 32
L2l o X 3R Y Rudia famelf & wrerd) § ik 25 A6 S & o ok S UR Rl B |
1L 2 Y 1 G 320 Hex € 3R 2 X 3R v B 71fet & el b 3fek 14 fbeft / weT B
1L 31 Y 1R T ST 19: 26 B |
01. HIAISMRII 02. &HId 11 3R 11
03. Pael 13RI 04. 3T A PIS TE
05. Jgut
Solution for Question 50 Ans Key: 5
All of these
g g4t
Q-51 Each of the questions below consists of a question and two or three statements numbered I and II or I, II and III given below it. You have to
decide whether the data provided in the statements are sufficient to answer the question. Read both the statements and give answer:
What is the marked price of the shirt?
I. A shopkeeper purchases 2 shirts for 2200 Rs. and earns 55 Rs. per shirt after giving 23% discount.
I1. A shopkeeper marks the price 36% more than the cost price and earns 200 Rs. after giving some discount.
01. Only | 02. Only 1T
03. Both I and IT together 04. Either IorII
0S. Neither I nor II
Q-51 T RETTUAS 7y A US U4 3N &1 a1 i U= 1 3R 1 AT 1, 11 3R 111 AW 77 €1 3mupt 98 7 H11 1 & pym A fqm e
STT Y BT I o & forg vt § a1 =481 | Q1 a1 il Fu=i o) ¢ 3R IR 6:
HUS D1 3ifdhd e AT 7?2
I. U GHIGR 2200 ¥ § 2 HUS WG § 3R 23% B a1 & a8 Ufd HUS 55 F A Sifd dxar g
I1. U% GoTER ANTd Hed T 36% 31 3 Id Ied T&d1 & 9IR &3 B¢ a7 & 918 200 FU3 FACIR |
01. el 02. HId Il
03. 1R IGHITH A1y 04. FIA AN
05. FATRAR D
Solution for Question 51 Ans Key: 1
eng Only L is sufficient
hi Pad Ugal U g
Q-52 Each of the questions below consists of a question and two or three statements numbered I and II or I, II and III given below it. You have to
eng decide whether the data provided in the statements are sufficient to answer the question. Read both the statements and give answer:

What is the present age of Ashish?

I. Ashish is 4 years younger than Akash. The ratio of the age of Akash and Aman is 4: 5.
II. Aman is 1 year older than Ashish and the present age of Akash is 20 years.

II1. The present age of Ashish is 5 years less than the age of Mohan who is of 25 years.

01. Only1 02. Only Il
03. OnlyIII 04. None of these
05. Only IT and 11T



i 3T TC Ui Uy H Th WY 3R S AT A B 1 3R I AT L 11 3R 111 fGT 71T B'1 TUDT a8 a9 H3A1 8111 fob w9 # fdu 1w

22T WY BT IR 2 P 11T Tt & a1 7811 S it BUi Y 0 3 IR

3refiy Bl adHH Mg T2

L. 3TN STHT 4 JTed BT 8 | BT 3R 3HT DI IH BT 4:581
1L 3(F 3TN | T 981§ 3R SHTHT DI TdHT 39 20 I g

111 3Ny BT IfAT 3y Hig= #1 3y A s af vA S|

01. HaddI 02. HIAII

03. el m 04. TH GBI G

05. HId 11 3R 11
Solution for Question 52 Ans Key: 4
eng Any two is sufficient
hi g Ui I g 5

Passage for Question 53, 54, 55, 56, 57 (ST-2049RRBPOMAINS(31-35M)2020)

eng Passage

Study the following bar and line graph and answer the questions given below.

TIME TAKEN TO TRAVEL(in hours) BY FIVE VEHICLES ON TWO
DIFFERENT DAYS

18 13

HDayl

TL-" 12 12
3 12 . i . mes
.l? 10
"a' i 3
E &
E
| [ .
:l .
A c D E
DISTANCE COVERED (IN KILOMETERES) BY FIVE VEHICLES
350
.‘E- =l
¥ 250 / Vil N
£ v
= 200 ~ \
c —
ﬁ' 150
J
5 100
]
E
50
(4]
A B £ D E
m——Day 1 180 180 256 306 221
Day 2 156 324 160 135 121
hi Passage
fau g ds o T oRE FY W | I T TR T U 1 wrare i
U Taf¥== areal ST &Y 3rder-3raer faat arsr arar & &
o9 AT (T H)
20 T




I (G )

-~

16

=
=]
H
un

B Day 2

A B 5 (8] E

a1 (T 3

UTT arget &R0 9 & T g (femet #)

350

300 }\\ i,

250 r/ \\ / \

el . >
S“— \

150

100

50

0

T 180 180 256 306 221

et 2 156 314 160 135 121

Q-53 The distance travelled by Vehicle E (both days included) is what percent less (ag)gox.) than the disitariée t;;/elled by vehicle B (both days included)?
eng
01. 18:13 02. 13:18
03. 15:11 04. 11:15
05. None of these o / o ) -
Q-53  QTE-LE GRI el 715 gul (GH1 e ), a8 B GRI 9a 718 gXl (a1 fa- )& TRTHT fard= ufa=rd
i hHHG?
01. 18:13 02. 13:18
03. 15:11 04. 11:15
05. 3TH Y B3 8!
Solution for Question 53 Ans Key: 3
eng 180/12: 121/11 =15:11
hi 180/12: 121/11 =15:11
Q-54  What s the difference between the speed of Vehicle D on day 1 and speed of Vehicle E on day 2?
eng
01. 3km/h 02. 5km/h
03. 4km/h 04. 6kmh
05. None of these
Q-4 a8 D ®1 U &1 3R a1 E &Y ¥R &1 a1 & fpam ofar 8 2

01. 3km/h 02. 5km/h
03. 4km/h 04. 6km/h
05. 90 Q HIs g

Solution for Question 54 Ans Key: 4




eng 17-11 = 6 km/h
hi 17-11 = 6 fopHI/EfeT
Q-55 The distance travelled by Vehicle E (both days included) is what percent less (approx.) than the distance travelled by vehicle B (both days included)?
eng
01. 47% 02. 45%
03. 32% 04. 38%
05. None of these
Q-55 I8 EGRI T T8 g4 QI e ), a6 B §RT 9l 15 gl (@M1 fard )& TTHAT e UfaRia 1 8 2
hi
01. 47% 02. 45%
03. 32% 04. 38%
05. 3T A B 8!
Solution for Question 55 Ans Key: 3
eng Total Distance by E=342km; Total distance by B= 504km
%=(504-342)/504x100=32.14%
hi E §RT et ol = 342 fopefl; B gRT 35 o= 504 fopeit
%=(504-342)/504x100=32.14%,
Q-56 Which vehicle travelled at the same speed on both the days?
01. A 02. B
03. C 04. D
05. E
Q-56 D AT dEA Gl e THF 1A Y T G 6 2
01. A 02. B
03. C 04. D
05. E
Solution for Question 56 Ans Key: 3
Day 1 Day 2
Vehicle Distance Time Speed Distance Time Speed
A 180 15 12 156 12 13
B 180 12 15 324 18 18
C 256 16 16 160 10 16
D 306 18 17 135 9 15
E 221 17 13 121 11 11
hi fa1 2
ared &l wm fa g g fa
A 180 15 12 156 12 13
B 180 12 15 324 18 18
C 256 16 16 160 10 16
D 3006 18 17 135 9 15
E 221 17 13 121 11 11
Q-57 What is the speed of vehicle B on day 2 in meter per second?
eng

01. 1m/s 02. 2m/s
03. 3m/s 04. 4m/s



05. None of these

Q-57 dlgd B &I @R & ot I1et Hiex ufd deb s | 1 g 2

hi
01. 1mss 02. 2m/s
03. 3m/s 04. 4m/s
05. 370 A PIs Tl
Solution for Question 57 Ans Key: 5
eng Speed in km/h = 18 km/h; in m/s = 18x5/18 =5 m/s
hi fordi/ae ® T = 18 fopdi/ee ; HIA T = 18x5/18 =5 WA

Passage for Question 58, 59, 60, 61, 62 (ST-2049RRBPOMAINS(26-30M)2020)
eng Passage

Read the following information carefully to answer the questions

Rohit have some articles which are in the form of different structures. These are cylindrical, conical, and spherical. Other than solid conical structure, all two are of
both types i.e., hollow as well as solid.

Volume of a conical article is three times of the volume of a solid cylindrical article while radius of a solid spherical article is half than that the radius of a conical
article. Outer radius of hollow cylindrical article is same as radius of solid spherical article while average of outer radius and inner radius of hollow cylindrical article
is equal to radius of solid cylindrical article. Height of cylindrical, conical and hollow cylindrical article is same i.e. 14cm

Number of solid spherical article is 1/5 of total number of article Rohit have. Number of hollow spherical article is 150% more than number of conical article. Ratio
between numbers of solid cylindrical article to number of conical article is 3:2. Total number of hollow cylindrical article is 40% of total numbers of article Rohit have

and also ‘20’ more than the total number of solid spherical article Rohit have. Volume of a hollow spherical article is 33,957 cm? whose inner radius is half of its
outer radius. Volume of a hollow spherical article is 5.25 time of volume of conical article.

hi Passage

3 g% IS B o A US SR U@ W UKt HTSara 2 |

ﬁ%ﬂé?gémaﬁq&m&m&mﬁ% S B SR, MHABR 3R Tl B 8 | AMHABR I B! SIS B TTDHT &1 IKIT 31 3R
TNHIBR a¥g BT I 31 SAADR %w&m%wm%quoaﬁummmaﬁaﬁﬁwwaﬁaﬁﬁwﬁ&mﬁ%Eﬁm
Wﬁﬁ%ﬂﬁﬁ%%dild%%lddl¢@@ﬁdﬂd[mr{$ﬁ3ﬁﬁ$ et IS &1 S7d 31 S-SR ag &b SRR ¢ |
STTTHR, AMHABR R WA SATIHR G DI 3918 SRIER & Sl DI 14
aﬁrﬁawaaﬁ#rmﬁ%ﬁ%mmaﬁahmm%mﬁw 3N B TSAT MHABR a3 T 150% 31AF 8 | Y THR
TGN P TS SR AHaHR a3 P ST BT UG 322 | @WWH}{ME&WW%WH}{M%?WHMO%%@W@
1Y Tl bR a3 20 HfUeh § | WGel TR o) b1 S 33,957 T & orrept sireifve Fisan smet Boan 1 ot 81 Ghaet MR
T BT TG, HABR a¥ BT ST BT 5.25 AT

Q-58 Volume of one hollow cylindrical article is how much more then volume of one cylindrical article?

eng
01. 4312 cm3 02. 6468 cm3
03. 2696 cm3 04. 2156 cm3
05. 1075 cm3
Y N
Q58 U WRAT STA-IHR a¥g B I, T SaIDHR ax] I T 1 82
hi
01. 431233 02. 6468 T3
03. 2696 T3 04. 2156 T3
05. 1075913
Solution for Question 58 Ans Key: 4
eng Volume of one hollow cylindrical article = x14x(10.5% - 3.5%) = 4312
Required difference =4312 — 2156 = 2156cm?
hi TP RIS STHIDHR I BT 3T = w4105 -3.5) = 4312

3y 3R = 4312 - 2156 = 2156

Q-59 Find the curved surface area of one hollow cylindrical article?
eng



01. 661 cm2 02. 1232 cm?2

03. 826 cm2 04. 521 cm2
05. 1016 cm2
Q-59 TREd SAIDR a¥g I Gghig YY BT &0 FId BRI 2
hi
01. 661 cm2 02. 1232 cm2
03. 826 cm2 04. 521 cm2
05. 1016 cm2
Solution for Question 59 Ans Key: 2
eng Curved surface area of one hollow cylindrical article = 27x (3.5+10.5)x14=1232cm?
hi T WA SR TE BT dsh &FABA = 2% (3.5+10.5)x14=1232 GHP
Q-60 Find the ratio between outer radius of hollow spherical article to radius of solid cylindrical article?
eng
01. 5:1 02. 2:3
03. 3:1 04. 3:4
05. 25
Q-60 WrEA MATHR I B! AT 3R 31 STIHR a¥q B! a1 BT ST I1d B 2
01. 5:1 02. 23
03. 3:1 04. 34
05. 25
Solution for Question 60 Ans Key: 3
Required Ratio =21:7 = 3:1
3B 3ITd = 21:7 = 3:1
Q-61 Find the total space taken by all solid spherical articles?
01. 97020 cm3 02. 4851 cm3
03. 52767 cm3 04. 34653 cm3
0S. 2625 cm3
Q-61 Tt S MeABR axg e e o8 BT B 2
01. 97020 cm3 02. 4851 cm3
03. 52767 cm3 04. 34653 cm3
05. 2625 cm3
Solution for Question 61 Ans Key: 1

eng Space taken by one solid spherical article = Volume of one solid spherical article
B 1(10.5)3=4851cm?
Total space taken by solid spherical articles = 20x485 1=97020cm>
hi T 319 TR ¥ R Ter 71 RIM = Uh 31 MAIbR I BT I
- % 1(10.5)3= 4851 Y1
B AR Aal gRT ferdm 71 et R = 20x4851=97020 FH
Q-62  Find the numbers of conical article Rohit have?
eng

Q-62

0L 12 02. 20
03. 40 04. 10
05. 8

e & U THTaHR g 1 H&AT J1d BRI 2



01. 12 02. 20
03. 40 04. 10
05. §

Solution for Question 62

Ans Key: 5

eng Number of conical article Rohit have = 8
hi Rfed & BT T 31 bl G- = 8
Q-63 Mukesh purchased 10 bicycles, all at the same price. He sold six of these at a profit of 25% and the remaining four at a loss of 25%. If he made a total
eng profit of Rs. 2000, then his purchase price of a bicycle?

01. 8000Rs 02. 6000Rs

03. 4000Rs 04. 2000Rs

05. None of these
Q-63 T 10 UIEfhd U& &1 BITd IR WRIad ¢ | 98 98 I 6 D1 25% P A TR AR TIHT 4 Bl 25% B1 81 IR o dl R Hig & I 2000 393
hi D1 A I | ol Udch HTSfched b1 bIAd T GITi 2

01. 8000Rs 02. 6000Rs
03. 4000Rs 04. 2000Rs
05. 390 I PIs g

Solution for Question 63

Q-64

Q-64

Let the cost of each bicycle be x.
From the given condition: 10x+2000=6x1.25x+4%0.75x
¢ = x=4000Rs

TP TTsihd Pl AlTd x 8 |
From the given condition: 10x+2000=6x1.25x+4%0.75x
¢ = x=4000Rs

Ans Key: 3

At their usual efficiency levels, A and B together finish a task in 12 days. If A had worked half as efficiently as she usually does, and B had worked thrice as
efficiently as he usually does, the task would have been completed in 9 days. How many days would A take to finish the task if she works alone at her usual

efficiency?
01. 24days 02. 18days
03. 12days 04. 36days

05. None of these

A 3R B 3T Sreferar & 12 fat & orf WA 3 Ad B 1 T A 3o} Sreferyar & 3 3R B 3 e & AH A A Hrf

T a8 WY H o fei & Hrd QRT aR | 1 IR A bl U SIS I BT D fova T87d T TR B2

01. 24days 02. | 8days
03. lzdays 04. 36days
05. 370 q IS T8

Solution for Question 64

Ans Key: 2

eng Let the work be LCM of (9 and 12) = 36 units.
Let the amount of work done in one day with their normal efficiencies by A and B be x and y units respectively.
Therefore, (x+y) x12=36
Orxt+y =3 ... (1)
Similarly,
(x/2+3y)*x9=36
Orx/2 +3y=4 ... (2)
Solving (1) and (2) for x, we get x =2 units
Hence, A alone would take 36/x = 36/2 = 18 days to complete the work with her normal efficiency
hi TS = (9 3R 12) BT LCM= 36 STy

AT A 3R B GRT 37! G &A1 & 1Y U & # T 10 S &1 71 HHRT: x 3R y SH1e31 31|
3d, (x+y) x12=36

Al x+y =3 ... (1)

T UPR,

(x/2+3y)x9=36

A x2+3y=4...(2)

(1) TUT (2) B! A B W x =2 TP



3 A 3(pa 36/x = 36/2 = 18 [T TN R BT DI AT B H

Q-65 Meena scores 40% in an examination and after review, even though her score is increased by 50%, she fails by 35 marks. If her post-review score is

eng increased by 20%, she will have 7 marks more than the passing score. Find the percentage score needed for passing the examination?
01. 70% 02. 60%
03. 75% 04. 80%

05. None of these
Q-65 nﬁmwuﬂ&nﬂm%wm—cﬁ%ﬁ? fRemn & arg 358 &mso%a's'aﬁ%a‘rﬂﬁamsamﬁaﬁﬂfa |tri%
hi E‘Tﬁ&rmﬁg? 3{F 20% I8 SMW Y T8 3T 7 3icp AR YT B AT | Gl 138 I TRI& b1 Ieivf e b frg o
ST B

01. 70% 02. 60%
03. 75% 04. 80%

05. 370 ¥ PIs Tl

Solution for Question 65 Ans Key: 1

eng Let the total score of the exam be 100 x.
Meena’s before review = 40% of 100x = 40x.
Her score after review = 40x + 50%o0f 40x = 60x.
Passing marks = 60x+35. .. (1)
Her score after increasing it by 20% of post review score = 60x+20% of 60x = 72x
Passing marks = 72x-7. ... (2)
Equating (1) and (2)
72x-7 = 60x + 35
=x=3.5
Hence, Total Marks = 100x= 350 and passing marks = 60x+35 = 245

Therefore, passing percentage = =~

-.-.;-

AT b URien &1 6 3 100 x|

=T B e | U8R = 40% of 100x = 40x,

THIET F TG IUBT 3P = 40x + 50%o0f 40x = 60x.

I 3P = 60x+35. .. (1)

THIET & THR B 20% TP dGMH B a1 BT PR = 60x+20% of 60x = 72x
ol 8 = 72x-7. ... (2)

(1) TUT (2) DI SRR B TR

72x-7 = 60x + 35

=x=3.5

3T, H 3 = 100x= 350 SR I 3B = 60x+35 = 245

o, IO} Hfcrerd = =5

Q-66 Study the following information and answer the following questions:

A bunch of 10 bulbs contains 4 defective ones. Two bulbs are selected at random from the bunch. Out of 10, 6 are red colour and 3 are red colour
defective bulbs.
What is the probability that —

Red colour bulb but No one is defective?

01. 12 02. 1/60
03. 1115 04. 2/25
05. 1/3

Q-66 YIS IFEHRNI B US 3R TS MY UK BT A 2|

! 10 §¢9 & U S8 T 4 TRT6 9cd ¢ | I S8 I gl 2 Ted DI AT ST 8 1 37 10 Todd B Y 6 TNt §edl ¢ o4 3 W16 8 | a9 5 wiliesan
1 BIfoR |
S A T & BT R BT N RGN
01. 172 02. 1/60
03. 1/15 04. 2725
05. 1/3

Solution for Question 66 Ans Key: 3



eng

Required probability =

=3/10 x2/9 =1/15

3ty UTiiear =

=3/10 x2/9=1/15

Q-67

eng

A chemist mixes two liquids 1 and 2. One litre of liquid 1 weighs 1 kg and one litre of liquid 2 weighs 800 gm. If half litre of the mixture weighs 480 gm,
then find the percentage of liquid 1 in the mixture?

01. 85%
03. 75%
05. None of these /

02. 70%
04. 80%

T THIT & R Ut A TUT B Y fAadi 813 1 ofiex AT HR 1 forall STafdh B BT HR 800 I 8 | TS 31me fiex fyur &1 +R 480 I1H
7, o fireor o @Rt A oo ufawa g 2

01. 85%
03. 75%

02. 70%
04. 80%

05. 378 ¥ PIs Tl

Solution for Question 67

Ans Key: 4

1000 800
960
160 40

percentage of liquid 1

1000 800
960
160 40

WA 1 HTUfARd=_"_

= — 0105

= 20%

Q-68 If two shopkeeper claims a profit of 25% on same goods but one on the cost price and other on selling price , and the difference in their profit earned by
them is 100rs. Then find the cost price of cheaper article if selling price is same for both?
01. 1600 Rs 02. 2000 Rs
03. 2500 Rs 04. 2400 Rs
05. None of these
Q-68 G GHMAR U o UR 25% b ATH &1 GTaT B €, TR, 30 J Th 0T A HaHed TR JUT R [Ishaqed R 39dT § 3R g &b
Y H SR 100 % 1 BT & | 1 A Gk BT b T I STalih Q11 bl [shaHed FH § 2
01. 1600 Rs 02. 2000 Rs
03. 2500 Rs 04. 2400 Rs
05. 9 J PIS I
Solution for Question 68 Ans Key: 5
eng Shopkeeper 1 Shopkeeper 2
SPIZCPI SP2: CP2
125:100 100:75
5:4 4:3
SP] = SPZ
Then
5:4 x4 4:3x5
SPIICPI Sle CP2
20:16 20:15
Ratio P1=4 P=5
Difference in ratio of profit = difference in profit
Ratio 1 = 100Rs
CP of cheaper article = 15 x100 = 1500 Rs
hi gd[IaR 1 gP[IGIR 2
SP15CP1 SP2I CP2
125:100 100:75
5:4 4:3



SP] = SP2

5:4) x4 4:3)x5
SP12CP1 SP22 CP2
20:16 20:15

3|:|q|E| P=4 o P,=5 o
Y & AT H 3R = 1Y T SR
1 =100 Rs
X BT CP = 15 x100 = 1500 Rs

Q-69  Study the following information and answer the following questions:
eng
A bunch of 10 bulbs contains 4 defective ones. Two bulbs are selected at random from the bunch. Out of 10, 6 are red colour and 3 are red colour
defective bulbs.
What is the probability that —
One is red colour defective and other is other colour non defective
01. 3/5 02. 2/5
03. 13 04. 2/3
05. 1/10
Q-69 <Igs IFPRI I US 3R I T Ul HT oA ¢ |
NI P TP TA N4 TG T 2 ST SH A P 2 TR B N A1 37 10 Ted A A 6 A Iod @ oA 3 WRIa 81 aa A
IR 1 B |
Toh dIel 371 1 VRIS Sedl Bl STalich GaRl GER W T s sl Bl |
01. 3/5 02. 2/5
03. 13 04. 2/3
05. 1/10
Solution for Question 69 Ans Key: 5
Required probability =
=3/10 x 3/9
=1/10
HIT TR T =
=3/10 x 3/9
=1/10
Q-70 There is 459 students in a hostel. If the number of students increased by 36, the expenses of the mess increased by Rs .81 per day while the average
expenditure per head reduced by 1. Find the original expenditure of the mess?
01. 7304 02. 7314
03. 7334 04. 7344
05. none of these
Q-70 US SHEN T A 459 A | Al BHI P1 WA 36 T T 3R HISHITT &1 T 81 393 J §8 WY ot Ufa fad @ |1 a1 614 g1
hi SRR Y HISHTerd T aRdfdes & o1 G 2
01. 7304 02. 7314
03. 7334 04. 7344
05. TN I PIs T8t
Solution for Question 70 Ans Key: 4
eng Total expenditure = 459x
36 students joined then total expenditure = 459x+81
Average = 459x+81/495 = x-1
x=16
Original expenditure = 16x459 = 7344
hi T T = 459x

36 BT AT §U A B T B = 459x+81
3TTd= 459x+81/495 = x-1



x=16
HA Y = 16x459 = 7344

Q-71

eng

Q-71
hi

A train starts running from station A at 11am and reaches station B at 3pm while another start running from station B at 1pm and reaches at 4:30pm. At

what time will they meet?
01. 1:30 pm 02. 1:14pm
03. 1:56 pm 04. 1:48 pm

05. None of these

w%@mAﬁﬁaﬁnaﬁﬁwﬁ%@?@mbaﬁwwﬁu@ﬁ%mwmﬁBWQaﬁw1aﬁﬁw€r%ah?

RIE A TR U 4:30 T Ugad! 82

01. 1:30 pm 02. 1:14pm
03. 1:56pm 04. 1:48 pm
05. T8 Y PIS e

Solution for Question 71

Ans Key: 2

eng

Q-72

Let total distance be 14km

Then speed of 1st train is 28/4 = 7Tkm/h

Speed of 2nd train is 28/3.5 = 8km/h

Ist train started at 1lam then it travels 7x2 =14km till 1pm

Then remaining distance= 28-14 = 14km

Now time taken to both train to meet = Remaining distance/ relative speed
Relative speed = 7+8=15km/h

Time= 14/15h or (14/15) X60 = 56 min

Then they will meet at 1:56pm

T & o 14 {8
ﬁo‘{t@?ﬁ DI A B 28/4 = 7 fopet/erR
TR ST DI A & 28 /3.5 = 8 Fpei/eR

Tgel o na@rgﬁ‘@caﬁ?ﬁo—w—s’w&lgg‘s‘ 7x2 =1 SOl e 14 fepeft

fohR 99 3 = 28-14 =

NIRRT ﬁaﬁ%ﬁmw%mw Y g3/ e T
groer i = 7+8=15 fH/ee

qug= 14/15hor(14/15)X60 56 i e

iR Qe 1:56 oo

A man covered a certain distance at some speed. If he increases his speed by 4km/h then he would have reached 9/2 min early then usual time. If he

decreased his speed by 6 km/h then he had reached 8 min late. Find the original distance?

01. 60km 02. 54km
03. 64 km 04. 72 km
05. None of these

TP Afdd B8 g [h 00 B R aRai g | afe 3! ard 4 {9 § 98 IR af 98 fad w9a ¥ 942 fFe ugd 8t uga S| a8t

qE ST =Tt 6 Tpell/ 9 Y a1eT @ eT ol at 9 8 e 31 3 | uga o 98 o 91 e

01. 60 fopet 02. 54 foet
03. 64 fpet 04. 72 fopeit
05. 370 ¥ PIs Tl

Solution for Question 72

Ans Key: 4

eng

Original speed = S

Speed after increment S| = S+4 km/h then timeT; =7~

Speed after decrement S, = S-6 km/h then time T, = i
60

8 i) ." 9 ‘-\:

Thenbytnck Sl Sz = —'1- H—_— 60 r 6 m)
Si:S, = 32.27
5 ratio =10km/h (difference in ratio = difference in speed)
1 ratio = 2km/h

Then S;= 32x2 = 64km/h and S, =27x2 = 54km/h
Distance = S;x S,/( S;- S,) xdifference in time



Difference in time = 8+9/2 min = 25/2min = 25/120 min

D = 64x54/(64-54) x25/120 =72 km
hi qAaTd =5
@ P I A S, = s+4 fpefiee v wm T1= -

9
.
j

60

P B TS, = S-6ﬁ°‘5ﬁ/ﬁ%?ﬁml“2=t;08 i

|’J 8“‘! |’J 9
SiSo=ldx_— || 6x—— |
1220 60 )\ " %60 )
S1:82 =32:27

5 HJUId =10 ﬁﬂ:ﬁ/ﬂ% (‘Tﬁf T 3R = difference in speed)

1 30Td = 2 foe/Ee

@ S,=32x2 = 64 fHHIAR SR S, =27x2 = 54 fopeftaie

A= S ;% SH/(S- S,) xTHY BT AR

T H 3R = 8+9/2 fie = 25/2 fiFe = 25/120 fiFe

D = 64x54/(64-54) x25/120 =72 et

Q-73 what approximate value should come in place of question mark in the following questions? (You are not expected to calculate the exact value).

eng

2
x—x3718=7
5

01. 381 02.
03. 274 04.
05. 254

Q-73 1o faRad ush & usiferg & R TR 101 1 SIHI T ST AT (MU Gl T A &1 ovd g1 8)

-0 £

01. 381 02.
03. 274 04.
05. 254

Solution for Question 73
P

=

[\

[\
~N o0

(V8]

283
271

Ans Key: 2

Q-74 what approximate value should come in place of question mark in the following questions? (You are not expected to calculate the exact

value).

459% of 849.947 + 266% of 6284.012 - 1486.002 =?

01. 20330 02.
03. 15000 04.
05. 19130

Q-74 A fafQa wal & wyfRe & I UR FHYT AT SHTN WIH 1T ALY | (MUY WP A e #1 5o 81 8)

12640
22160

459% of 849.947 + 266% of 6284.012 - 1486.002 =?

01. 20330 02.
03. 15000 04.
05. 19130

Solution for Question 74

eng 459% of 849.947 + 266% of 6284.012 - 1486.002
~ (460/100) %850+ (266/100)x6280 - 1486
=~19128=19130

hi 459% of 849.947 + 266% of 6284.012 - 1486.002
~ (460/100) x850+ (266/100)x6280 - 1486

12640
22160

Ans Key: 5



Q-75

eng

~19128=19130

what approximate value should come in place of question mark in the following questions? (You are not expected to calculate the exact

value).

564.666 + 82.5091 x 44.581 - 34.111=?

01. 28450 02. 4220
03. 4000 04. 1600
05. 14225

fora farfEa weit & wefRrg & AT R Y01 T S 01 3T A1 | (3mueh! Téte aF feaq &1 sevd A1 8)

564.666 + 82.5091 x 44.581 - 34.111=?

01. 28450 02. 4220
03. 4000 04. 1600
05. 14225

Solution for Question 75

eng

Q-76

Q-76

564.666 + 82.5091 x 44.581 - 34.111
=~ 565+82 x 45 - 34
~4221~4220

564.666 + 82.5091 x 44.581 - 34.111
~565+82 x 45 - 34
~4221~4220

In the following number series only one number is wrong. Find out the wrong number.

18.3, 20.6, 16, 22.9, 13.7, 24.2, 114

01. 242 02. 183
03. 13.7 04. 229
05. 20.6

fFrafafEd S yEar & ad e WE €1 Tad 8, a8! T WS J1d HA |

18.3, 20.6, 16, 22.9, 13.7, 24.2, 11.4

01. 242 02. 183
03. 13.7 04. 229
05. 20.6

Solution for Question 76

eng

Q-77

eng

Q-77

18.3 +2.3 =20.6
20.6-4.6=16
16 +6.9=229
229-92=13.7
13.7+11.5=25.2
252-13.8=11.4

18.3 +2.3=20.6
20.6-4.6=16
16 +6.9=229
229-92=13.7
13.7+11.5=25.2
252-138=114

In the following number series only one number is wrong. Find out the wrong number.

-9, -15, -49, -192, -961, -5759

01. -5759 02. -961
03. -192 04. _49
05. -15

fFrafafEad Sen yaar & $ad Te W@ g Tad 8, a8 T WS J1d HRA |

Ans Key: 2

Ans Key: 1



-9, -15, -49, -192, -961, -5759

01. -5759 02. 961
03. -192 04. _49
05. -15

Solution for Question 77

eng

Q-78

eng

Q-78

(9x2)+3=-15
(-15%x3)—4=-49
(-49 x 4) + 5=-191
(-191 x 5)— 6 = -961
(-961 x 6) + 7 =-5759

(9x2)+3=-15
(-15%x3)—4=-49
(-49 x 4) +5=-191
(-191 x 5)— 6 = -961
(-961 x 6)+ 7 =-5759

In the following number series only one number is wrong. Find out the wrong number.

2, 4, 11, 37, 151, 771, 4633

01. 11 02. 4633
03. 771 04. 151
05. 2

Frafafeaa Jen yaar & $aa T W@ g1 Tad 7, a8t Tad WS J1d B |

2, 4, 11, 37, 151, 771, 4633

01. 11 02. 4633
03. 771 04. 151
05. 2

Solution for Question 78

Q-79

eng

Q-79

2x1+2=4
4x2+3=11
11x3+4=37
Bilpsdtt 5% 153

153x5+6=771
771 x 6 +7=4633

2 xelet2 =4
4x2+3=11
11x3+4=37
37x4+5=153
153x5+6=771
771 x 6 +7=4633

In the following number series only one number is wrong. Find out the wrong number.

2442, 1222, 614, 312, 163, 90, 55.75

01. 1222 02. 312
03. 90 04. 614
05. 163

Pt we yaer ¥ Pad U B § Tad 8, 98! Tad S=1 J1d R |

2442, 1222, 614, 312, 163, 90, 55.75

01. 1222 02. 312
03. 90 04. 614
05. 163

Solution for Question 79

Ans Key: 3

Ans Key: 4

Ans Key: 3



eng 2442/2 +1=1222
1222/2 +3=614
614/2+5=312
312/2+7=163
163/2 +9=289.5
89.5/2 +11=55.75

hi 2442/2 +1=1222
1222/2 +3=614
614/2 +5=312
312/2 +7=163
163/2+9=289.5
89.5/2+11=155.75

Q-80 In the following number series only one number is wrong. Find out the wrong number.

eng
188, 154, 140, 132, 128, 126, 125

01. 125 02. 154
03. 132 04. 126
05. 188

0Q-80 FEfifRT e saer & Saa ve e # Tad 2, 98t Tad T §1d 0 |

188, 154, 140, 132, 128, 126, 125

01. 125 02. 154
03. 132 04. 126
05. 188
Solution for Question 80 Ans Key: 5
186 —32 =154
154 - 16 =140
140 - 8 =132
132 -4=128
128 -2 =126
126 - 1 =125
186 —32 =154
154 - 16 = 140
140 - 8 =132
132 -4=128
128-2=126
126 - 1=125

Q-81 Arunawati Dam is situated in-

01. Odisha 02. Tamil Nadu
03. Maharashtra 04. Gujarat
05. Karnataka

Q-81  3RvUrad &Y fRyd §-

hi

01. 3ffE=m 02. TSI

03. TERIY 04. ORI

05. i
Solution for Question 81 Ans Key: 3
eng Arunavati Dam is an earthfill and gravity dam on Arunavati river near Digras in Yavatmal district of state of Maharashtra in India.

hi ST 1Y HRA T HERTY. T & FATHI fordl B [SUT & UTH SBUIae A1 UR &1 Teh HehU 3R eIyl 914 ¢ |

Q-82  Masters cup is associated with which of the following Game?
eng

01. Badminton 02. Cricket
03. Golf 04. Hockey



05. None of these

Q-82 TrRed &y fufafad # § fory Oa 3 Hefia g2
hi
01. Sefiiea 02. forde
03. Mh 04. Bldb!
05. T8 I PIs g
Solution for Question 82 Ans Key: 3
eng The Masters Tournament (usually referred to as simply The Masters, or the U.S. Masters outside of North America) is one of the four major
championships in professional golf.
hi R eAfAe (IR TR 99 AReY I1 IR SAREDT & a6 ARSI ARed & &9 § Tehid) IaR et § IR WRd AR § §
@3l
Q-83 INDRA is a Joint tri military exercise between India and which country?
eng
01. France 02. Russia
03. USA 04. China
05. Myanmar
Q-83  INDRA YRd R for 331 & o9 U Wad A0 I Sy g2
01. g 02. =g
03. Yo I AR 04. =
05. THAR
Solution for Question 83 Ans Key: 2
INDRA is a joint, bi-annual military exercise conducted by India and Russia starting in 2003.
INDRA HRd 3R ¥4 §RT 2003 & Y& b1 71 Uh Ggad, Tg-antieh -0 3N gl
Q-84 ‘Kuchipudi, a classical dance is related to which state?
01. Andhra Pradesh 02. Karnataka
03. Manipur 04. Tamil Nadu
05. Kerala
Q-84 TGN T ‘HRIYST, v o | Wl g2
01. 3ffg TS 02. Hfch
03. TR 04. TfHTTS
05. DI
Solution for Question 84 Ans Key: 1
eng Kuchipudi is one of the 8 classical dance forms of India. The dance form has emerged from a popular theatrical art
‘Kuchipudi Yakshagana’ named after the place of its origin, the village Kuchipudi in Andhra Pradesh.
hi HfIgS!, HRd b § AR F@?Q?ﬁ%lsﬂ ﬁWﬁWWWW‘WH&W’@@%
ST AT 311¢l U= & HATgS! M & I RIM & 41 W 34T T 5
Q-85 Barauni Thermal Power Station is located in which state?
eng
01. Bihar 02. Jharkhand
03. UP 04. Maharashtra
05. None of these
Q-85 I et uraR RRH o Ireu B fRya g2
hi
01. fagR 02. IRES
03. IR UL 04. HERTY

05. 370 ¥ PIs Tl



Solution for Question 85 Ans Key: 1

eng Barauni Thermal Power Station is an existing 470 megawatt coal-fired power station earlier owned by Bihar State Electricity Board (BSEB).The power
station is located at Barauni in Begusarai district, Bihar, India.Barauni thermal power station in Bihar came into existence in association with the Russian
collaboration and came into operation in the year 1962.

hi TR e graR WL R oY faiclt S1e (BSEB) & WIHd & Ugd § HIS[G 470 TRIIGTE &1 Higa SMUTRd forsiell WA g | I8 Ul
@mqug%@wﬁﬁ%ﬁﬁﬁ@lﬁ%l fIeR B R yrfet TR R SifKia T Siman| 3t TgaiT & 1Y GganT 3R Y 1962 B
GRETe 7 T |

Q-86  Golden Revolution is associated with the production of
eng

01. Oil Seeds production 02. Leather/Nonconventional (India)/Cocoa production
03. Overall development of Agriculture 04.  Fruits/Overall Horticulture development/Honey Production
05. None of these

Q-86 w@ufwifa, JJSTga &I

hi
01. AT ¥ oIS IdTE 02. THST/ TR URUNRS (HRA) / Hdh! IATG
03. SN S FHY fabra 04. el / Sl FEQiTeRR ST fdh Tl / W8 g Scra
05. 378 A PIs ]
Solution for Question 86 Ans Key: 4

Agricultural Revolutions in India

(2nd Green revolution) : Protein Revolution : Coined by Narendra Modi and Arun Jaitely.
Oilseed Production : Yellow Revolution : Sam Pitroda

Petroleum products. : Black Revolution :

Fish Production : Blue Revolution : Dr Arun Krishnan.

Leather / Cocoa / Non-Conventional Products. : Brown Revolution :

Jute Production. : Golden Fiber Revolution

Fruits / Honey Production / Horticulture Development : Golden Revolution : Nirpakh Tute;.
Fertilizers. : Grey Revolution :

Onion Production / Pharmaceuticals / Prawn Production. : Pink Revolution : Durgesh Patel.
Opverall Production of Agriculture. : Evergreen Revolution : Started in the 11th 5 year Plan.
Egg Production / Poultry Production : Silver Revolution : Indira Gandhi.

Cotton. : Silver Fiber Revolution

Meat Production / Tomato Production. : Red Revolution : Vishal Tewari.

Potato : Round Revolution

Food Grains : Green Revolution : Norman Borlaug, William Goud (UK), M.S. Swaminathan.
Milk Production. : White Revolution/Operation Flood : Verghese Kurien.

hi YIRd H &Y wifaal
&) gikd wifa) | - e whifd: TR% HIdT 3R 3107 Sieeh gRT TTeT 4T
foicTg = SedreT: dieil shifd: 94 foaftar
e ST | : et shifd:
HE ol SATG: Aici shifd: ST 1 301 HUH
THST/ HIp! / TR-IRURS IaTg | : 3 wifd
S SdTGA | : s BIgaR whifd
Bd / 8¢ IdIe / SRTaH! fas: Tl wifd: fFRoa oo |
T e T e e
TSl TG / / ST TG | - : |
Fa TR BN o1 IdTe | : ISTEER Hifd: 11 3 daasiia JioH & [ g |
ST IUIGT / HhC STG: Toid shifdl: AT et |
PUN | : ToTd BIgaR shifd
HIY G / THICR IdTe | - a1t shifal: farmmmet faart
3T - T pifd
[T gRa wifa: A= IR, faferm M @ ), THeY | W@rEARA|
T IATG | : I Hifdl / TR 916 FIlfT BRI

Q-87 In which of the following city Headquarter of Bank of India is situated?
eng

01. New Delhi 02. Kolkata
03. Chennai 04. Mumbai
05. None of these

Q-87 % oifts 3 o1 e Fafafad & 9 forg wrex & fRya &2

01. s fecah 02. HIAHIAl



03. Iog 04. TS

05. 90 q DI 1G]

Solution for Question 87 Ans Key: 4

eng Bank of India (BOI) is a commercial bank with headquarters in Bandra Kurla Complex, Mumbai and Founded in 1906, it has been government-owned
since nationalisation in 1969.

hi %WM(BQ%WWM,E&%ﬁwiWHWHW%%W1906ﬁwfha,u"s'1969ﬁv@uwm$aﬁ©r
IWHR & WiHad H 8|

Q-88  Inwhich state is Vembanad Lake located?

eng
01. Tamilnadu 02. Kerala
03. Andhra Pradesh 04. Madhya Pradesh
05. Manipur

Q-88 %ﬂwﬁmgﬁa@m%?

hi
01. qfHerg 02. I
03. 3ffy TS 04. AHYSY
05. HOQR

Solution for Question 88 Ans Key: 2
Vembanad Lake is located in Kerala.
reTS el e | U B |

Q-89 Indian government has signed $500 million loan agreement with which bank to improve quality & safety of Mumbai’s suburban railway system?
01. Asian Development Bank (ADB) 02. New Development Bank (NDB)
03. Asian Infrastructure Investment Bank 04. World Bank (WB)

(AIIB)

0S. World Trade Organisation.(WTO)

Q-89  HRAIRBR 7 Heg HI SUTRIY Icd YOIl 1 TUrerell SR YR H YR & T ooy sleb b |1l $ 500 FATa o B0 GG TR GXKIER
fpu g
01. TR faHN d& 02. g 3qudc dd
03. TR STHRCRR FALHE Sb 04. faydem
05. fa% SHUR F116|

Solution for Question 89 Ans Key: 3
A loan agreement was inked between the Government of India, the Government of Maharashtra, Mumbai Railway Vikas Corporation (MRVC) and the
Asian Infrastructure Investment Bank (AIIB) for Mumbai Urban Transport Project-III. The agreement aims to improve the network capacity, reduction in
journey time and fatal accidents of commuters, service quality and safety of the suburban railway system in Mumbai, Maharashtra. The total estimated cost
of the project is $997 million, of which $500 million will be financed by the AIIB, $310 million by the Government of Maharashtra and $187 million by the
Ministry of Railways. The loan from the AIIB has a 5-year grace period and a matlnity of 30 years.

hi Ta3 UGN gRag URASHI- Hﬁmww u‘s’mgwm T&s 304 fde™ FE (MRVC) SR TRRAITS S&¥ReHT 4% ddh
(AIIB) & &9 T BT JHSNAT g3 | JHA , TERTY T SUTRIT Yad TUITel &1 Sedd &, I JHd H St 3R a1l &t
HId® geeTSi, YT Bt Torax 3R JRem & ﬁ%I'R | GRS 1 o SIHIG ST § 997 TR &, R § s 500 e &1
TIE ST, HERIF IRBR gRT $ 310 FAIfer ok iawm$ 187 FEIReTe 1 fauooT e SITQ | Tarrgamsa & B 5 O &)
e 9@l 3R 30 Tl 1 aRuSar ol 3

Q-90  International Youth day is celebrated on

eng
01. 2 November 02. 12 August
03. 22 October 04. 12 January
05. None of these

Q-90 SR garfeaw R AT S 8

hi
01. 29dsR 02. 12 3Td
03. 22 3fATER 04. 12 Sa’

05. 379 q HIS gl



Solution for Question 90 Ans Key: 2

eng International Youth Day is an awareness day designated by the United Nations. The purpose of the day is to draw attention to a given set of cultural and
legal issues surrounding youth. The first [YD was observed on 12 August, 2000.

hi SRS gar fgaq GRT AT T SIFRehdl [Gad ¢ | fa- BT 3539 a1l b SRIURI & i e AR P TP de IR
mﬁ&na% %%Tgmﬁﬁlzmzoooaﬁmww & TR

Q-91  Kaziranga National Park is located at

eng
01. Andhra Pradesh 02. Gujarat
03.  Arunachal Pradesh 04. Assam
05. None of these
Q-91 FHERM I IAH A fRag
hi
01. 37y U 02. ToRIT
03. 3RUETA Ue W 04. 3H
05. T8 I PIs g
Solution for Question 91 Ans Key: 4
eng Kaziranga National Park is a national park in the Golaghat, Karbi Anglong and Nagaon districts of the state of Assam, India. The sanctuary, which hosts
two-thirds of the world's great one-horned rhinoceroses, is a World Heritage Site.
HISIRAT 3T HRT & TH T P ATdIe, HIal SAFTAIT R A1Tia et § T AT ST § | YR, S g1 & HgH U
i ATl 7151 3 21-FeTE o bl €1 bl €, Ueb a3 faReie ier 2
Q-92 Name the insurance company which has launched an insurance product called “Shagun — Gift an Insurance”. It is a unique gift of Personal Accident policy?

01. Sampo General Insurance Company Ltd ~ 02. SBI General Insurance
03. Royal Sundaram General Insurance Co Ltd 04. HDFC ERGO General Insurance Company
05. Bharti Axa General Insurance Company Ltd

Q-92 ?WWWW qaTsy form "= - v T S=aRY A 191 Sw1g i a1 8 | I8 AfadiTd gaeHT A1 &1 Ud 3T SUsR
?

01. GO oFRA SWRT BT fRifes 02 THISNE SRel STARY
03. 7T Yo SR STARY HU-I 04. TTSITHE! SRONSN SR 3RARY BT

05. YR TR S-Ra SARY H U]
fafee

Solution for Question 92 Ans Key: 2

SBI General Insurance has launched an insurance product called “Shagun — Gift an Insurance”. It is a unique gift of Personal Accident policy.

hi T3S SFRa SRARY 1 "} - {0 T SRARY" AP U STHI IdIG - 15T ¢ | I8 SAioiTd geieT Hifd Pl U sl SUSR g |

Q-93 Name the organization which has launched a debt and credit guarantee product ‘Structured Finance and Partial Guarantee Programme to NBFC-MFIs’
eng (signed a pact with Vivriti Capital and Ujjivan Small Finance Bank)?

01. Competition Commission of India (CCI) ~ 02. Insurance Regulatory and Development Authority of India (IRDAI)
03. Reserve Bank of India (RBI) 04. The Securities and Exchange Board of India (SEBI)

05. National Bank for Agriculture & Rural
Development (NABARD)
Q-93  3IY TG &I 1] JaTsy for U7 3R HUT TRET SIS Tl o g fomd TRferd fa SiR o1iflies TRE Srfer s Traiumel-tHuw o
hi (it Bited 3R ISiia Wid BIEAY S6 & 1Y U I TR TEIER)?

01. YRdg gfaeayf smanT (ccn 02. YRdTg &1 fafyarme fasm mfiesRor IRDATD)
03. YRag Reid 9 (RBI) 04. YR ufayfa ok fafmra &S (seBI)
05. I HY R U i
(NABARD)
Solution for Question 93 Ans Key: 5
eng National Bank for Agriculture and Rural Development (NABARD) has introduced, ‘Structured Finance and Partial Guarantee Program for Non-Banking

Finance Companies (NBFC)-Micro Finance Institutions (MFIs)’, a dedicated debt and credit guarantee product to ensure uninterrupted flow of credit to



the last mile in rural areas hit by the COVID-19 pandemic. NABARD has signed a pact with Vivriti Capital and Ujjivan Small Finance Bank on 14 August
2020 to introduce the initiative, which will enhance sustainable finance access to microenterprises and low-income households.

hi AT S BR ThewR US ¥R SAAUHT (NABARD) F TH-8feh?T B189 & Uf=a} (NBFC) -Micro Finance Institutions (MFI) & feIQ'
wﬁaﬁﬁsﬁ?&mnﬂaw g1 i g, St b Fafy vare FA & oY T uftfa 07 3R 01 TRE S1E & COVID-
19 TEMRI BT TR 31 I8 AT SATD1 H RS et b BT 99 ilﬁqmﬁ%ﬁmmm 2020 1 fIfq Bfed ik
Isiia HId B 9 & 1Y Th THSId IR SIER fHU g, Gﬁﬁﬁ&&nﬁﬁ HH 3T aTet BR1 H Wt fad uga & e
Q-94  Orang national park is situated in
eng
01. Assam 02. Maharashtra
03. Tamil Nadu 04. Andhra Pradesh
05. None of these
Q-94 SR ITA A fRya g
hi
01. 3/9H 02. HERIY
03. dfferTg 04. 3l AT
05. T8 I PIs g
Solution for Question 94 Ans Key: 1
The Orang National Park also known as Rajiv Gandhi Orang National Park is located on the north bank of the Brahmaputra River in the Darrang
and Sonitpur districts of Assam.
SR AR U I ITid e SR ARHA Up & 0 7 4 S Il &, T8 S & e SR WAagR vt 8 siergs et & I fbeR R R g1
Q-95  Pesois the currency of which country?
01. Senegal 02. Panama
03. Peru 04. Philippines
05. None of these
Q-95 U fPueTHIgaIe?
01. e 02. GATHT
03. = 04. flrefitia
05. 375 I HIs gl
Solution for Question 95 Ans Key: 4
Senegal : Dakar : CFA Franc
Panama : Panama City : Panamanian Balboa
Peru : Lima : Peruvian Nuevo Sol
Philippines : Manila : Philippine Peso
i H"I‘IQ’I:SOI‘)IQ:H‘\IQLPQ%
GRTHT. U1 RS U1 Siesief
U= AT B ag el Hiet
fopciidtg: Heitet: BEill
Q-96 Pin Valley national park is located in which state?
eng
01. Gujarat. 02. Assam.
03. Madhya Pradesh. 04. Himachal Pradesh.
0S. Maharashtra.
Q-96 U ach Tt ST ford wg & fRyd B2
hi
01. oRId 02. 3H
03. AHUSY 04. RO U
05. HAERIY
Solution for Question 96 Ans Key: 4
eng Pin Valley National Park is a National park of India located within the Lahaul and Spiti district, in the state of Himachal Pradesh.
hi O 3clt ARMTE U YR BT T BT I § S dleiet 3R Wiifa fordl & iR, femmaa e v & fRa 2|



Q-97

Satpura National Park is situated in which state?

eng
01. Himachal Pradesh 02. Andhra Pradesh
03. Madhya Pradesh 04. Kerala
05. None of these
Q-97  IAYSIIET 3T fhw 9 H Ry g2
hi
01. fRAE Uew 02. 3fiy g3
03. AU 04. B
05. 90 q DI 1G]
Solution for Question 97 Ans Key: 3
eng Satpura National Park is located in the Hoshangabad district of Madhya Pradesh in India. Its name is derived from the Satpura range.
hi FAYST IS I HRA H HH Y3 & BIRATEIG forel H R B | SHbT AH FdgsT 4uil I ferar mang |
Q-98 Scheduled Banks of India are those banks, which are -
eng
01. included in First Schedule of RBI Act, 1934 02. not included in First Schedule of RBI Act, 1934
03. included in Second Schedule of RBI Act, 04. not included in Second Schedule of RBI Act, 1934
1934
05. None of these
Q-98 TB P URA & YA §F &, S -
01. ReNSS MUFTH, 1934 BT Ugel 02 R3S fUFTH, 1 9 34 BT Ul ST H WA 7T B
ST A A B |
03. RIS SAAFTH, 1934 DI 04. RIS SHRFTH, 1 9 34 BT IR TP H WAA 1 &
S & i B
05. T8 q PIs A8
Solution for Question 98 Ans Key: 3
Scheduled Banks of India are those banks, which are included in Second Schedule of RBI Act, 1934.
RGNS AT, 1 9 34 BT GE S B A dh URA & SYfId 8 G, |
Q-99 The Bank for International Settlements (BIS) is an international financial institution. It is based in
01. Basel, Switzerland 02. Geneva, Switzerland
03. Zurich, Switzerland 04. Bern, Switzerland
0S. None of these
Q-99  § BR SR HeaHcH (SIS UH) U SaRRIS/4 [atiid ST § | 98 Hiydsl
hi
01. Iq, RgeoRds 02. A, RgeoRds
03. ik, fReords 04. &, RreoRels
05. 38 4 Pl A8
Solution for Question 99 Ans Key: 1

eng The Bank for International Settlements (BIS) is an international financial institution. It is based in Basel, Switzerland.
hi b BR FeRARAT Yeahed (ST T SRS iy T=IH 3 | I8 994, fRicords & fRua g1
Q-100 The reserve held by commercial bank in form of cash with RBI is known as?
eng
01. Cash reserve 02. Deposit reserve
03. Excess reserve 04. Momentary reserve
05. Monetary reserve
Q-100 ¥R<g Roid 3% & U 7w} & T H Aoy s gRT o1 Rord foe =0 & ST ST g2



01. d&c AR 02. SHT ARfed

03. 3rfafve SRférd 04. &ifOreh SRFET

05. Mg SRR
Solution for Question 100 Ans Key: 1
eng The reserve held by commercial bank in form of cash with RBI is known as Cash reserve.

hi HRTT RoTd §b & U1 bl P =7 H qIious S gRT o4 ReTd Ao e 3Rféd & Y & ST S gl

Q-101 What is the capital of Goa?
eng

01. Gangtok 02. Panaji
03. Dispur 04. Shillong

05. None of these
Q-101 TIaT T ST a1 82

hi
01. THIEIH 02. UL
03. feaqR 04. R
05. TH I PIS QT
Solution for Question 101 Ans Key: 2

Meghalaya : Shillong : Satya Pal Malik : Conrad Sangma
Goa : Panaji : Bhagat Singh Koshyari : Pramod Sawant
Sikkim : Gangtok : Ganga Prasad : Prem Singh Tamang
Assam : Dispur : Jagdish Mukhi : Sarbananda Sonowal

AT TR I UTet Al HI-RTS TIHT
9T GUrSit: HITd g IRy UHie ardd
&fdemm: Trei®: 7 e UH R aqin
3y feagR: STiRT gt wafHe diFara

Q-102  What is the Capital of Maldives?

01. Lisbon 02. Male
03. Kampala 04. Rabat
05. Asmara

Q-102 W &1 AT T 82

hi

01. foreH 02. AT

03. Hyram 04. Idd

05. SERT
Solution for Question 102 Ans Key: 2
eng Portugal : Lisbon : Euro

Maldives : Male’ : Maldivian Rufiyaa
Morocco : Rabat : Moroccan Dirham
Eritrea : Asmara : Nakfa

Uganda : Kampala : Ugandan Shilling

hi Yot fera . gR1
HAIAcIg: HIA: ATddd Sfthar
ARG Y: T&Td: HRae! fexgH
TR SART: AR BT
IS HUTel: et fRufef

Q-103 Whatis the full form of CAR?
eng

01. Current Account Ratio 02. Concurrent Account Ratio
03. Capital Account Ratio 04. Capital Adequacy Ratio

05. None of these
Q-103 CARBTUUf U FITF?



01. DT BhI3c NN 02. DIMHRC B3 RN

03. Hfed srmrde RN 04. Hfed vStamud R

05. 90 q DI g
Solution for Question 103 Ans Key: 4
eng Capital Adequacy Ratio is also known as Capital to Risk Assets Ratio. It is the ratio of a bank's capital to its risk. National regulators track a bank's CAR

to ensure that it can absorb a reasonable amount of loss and complies with statutory Capital requirements. It is a measure of a bank's capital.

hi @ﬁmq@ﬁﬂ@mﬁﬁ@ﬁmﬁﬂwmﬁﬁ$mﬁﬁmmﬁ|%N%ﬁiﬁﬁ%@@ﬂﬁ@gﬂﬁ?l%ﬁ@u

e Td §F 31 HR B U8 IR F T ¢ IR & b T8 Sferd A & THam o Sa=ifid HR W 3R duid
HTALHATSN BT ST HR b | T§ S B! Yol BT AU 3 |

Q-104 What s the full form of COCSSO?
eng

01. Conference of Centre and State Officers ~ 02. Central Conference of State Organizations
03. Conference of Central and State 04. Conference of Central Statistic Organizations
Organizations
0S. Conference of Central Statistic Operation
Q-104 COCSSO & RTEY FTg?

hi
01. HiThY AT JoX Us We ffbad  02. Fod HithY 3H1h R FHRITH
03. HIHY 3 Yoo U8 We FARSRH 04. HihY 31k Yoo Us RfeuRedy SR
05. HIHY 3 e Us Kieafesry
JREA
Solution for Question 104 Ans Key: 3

The 27th Conference of Central and State Statistical Organizations (COCSSO) was inaugurated at Kolkata, West Bengal on 11th November, 2019. The
Conference is organized by the Ministry of Statistics and Programme Implementation (MoSPI), Government of India every year.

DL 3R AT WiRFTB T TIST (COCSSO) 27 & THAT BT IcdIeH HIcbIdl, UTH ST H 11 48R, 2019 I fb T 7147 UT| JHIerH
BT TS Fifep! HAT 3R BTAHH BTG (MoSPI), HRA TRHR §RT 8 I1d fhar S g |

Q-105 What is the maximum amount can be auctioned by the RBI under term repo rate?

01. .75% of NDTL of the bank 02. 0.75 % of the NDTL of the banking system
03. 2.59% ofthe NDTL of the bank 04. 5% ofthe NDTL of the bank

05. 3% of the NDTL of the bank
Q-105 THIUIT & dgd RIS GRT SHeda fd-l IR Bt AT &t S Fablt g2

01. §% & NDTL &T0.75% 02. ST YOI & NDTL $710.75%

03. % P TSI BT2.5% 04. §% P NDTL BT 5%

05. §& % NDTL &1 3%
Solution for Question 105 Ans Key: 2
eng In term repos, funds are given to banks on an auction basis. Which can be a maximum of 0.75% of the NDTL of all of them.

hi <H 3N A A P YR IR Sl &t o= fear St g | St fob 37 34t & NDTL 67 0.75 % 3ifidmdH gl ghdi g |

Q-106 What is the maximum amount can be taken under MSF by a commercial bank?
eng

01. 1% of NDTL 02. 2% of NDTL
03. 5%NDTL 04. 6% of NDTL

05. 10% of NDTL
Q-106 TS TIVIYS S gRT MSF & 8 3 fpa-T i of o gapet 82

hi

01. TASIEITS BT 1% 02. TASICITA BT 2%

03. 5% PITASICITA 04. TASIENA BT 6%

05. TASIKITA BT 10%
Solution for Question 106 Ans Key: 2
eng A commercial bank can borrow money from RBI 24 hours under MSF .

hi T dIfUIvI® §b MSF & dgd RBI Y 24 8¢ & @ g1 d T g |



Q-107 What is the other name of the Dehradun airport?

eng

01. Himalayan Airport 02. Mac Mohan Airport
03. Jolly Grant Airport 04. Uttarakhand Airport
05. Badrinath Airport

Q-107 <EIG BaTS 31 T gERT ATH T 82
hi

01. fRuTeRR gaTs g 02. T T gaTs 33
03. el Tife gaTs SIS 04. JITRIGS gaTS 37T
05. FEHTY TATS 3T
Solution for Question 107 Ans Key: 3
eng Uttarakhand Government has decided to rename the Dehradun airport (Jolly Grant Airport) after former Prime Minister Atal Bihari Vajpayee.
hi IS TIHR A Yd FYHHAT 3cdl fIgRT aroudil o =18 UR GgRigd gdls 3131 (Siicil Fic gdTg 3(gT) B -ATH Jceid BT byl (b gl
Q-108 When is the World Hepatitis Day observed?
eng
01. July Ist 02. July28th
03. July 20th 04. July 29th
0S. July 23rd
Q-108 fay gUcrRfey fiayw & T r ST 82
01. 19 02. 28 TS
03. 20 ans‘; 04. 29 W
0. 23
Solution for Question 108 Ans Key: 2
World Hepatitis Day is observed on July 28. The day aims to boost national and international efforts on hepatitis and encourage actions and engagement by
individuals and partners to enhance the awareness regarding the disease.
fay GLICIQICH |qu 28 SdTs P HART ST & | sﬂﬁ?maﬁm%ﬁmﬁﬂwm aﬁ? SRITT T} 1 dgTaT ST 3R SR &b aR H
SRS T 96 & oY afad! SR HITGR! gRT BTl SR TS &1 UidTied H31 o
Q-109 Where is the Jung-E-Azadi memorial located?
01. Gujarat 02. Punjab
03. Bihar 04. Uttar Pradesh
0S. Chandigarh .
Q-109  SITI-T- 35l TR bl el 82
hi
01. ToRTd 02. U9g
03. fSER 04. IRUCY
05. <ghTg
Solution for Question 109 Ans Key: 2
eng Jang-e-Azadi Memorial is a memorial and museum being built in Kartarpur of Punjab, India, in memory of contribution and sacrifices made by
the Punjabi community in Indian independence movement.
hi S-S WIRS YRl T Sicia & Uoirel Tar gRI T 78 anTeH SR afte 3t arg &, YRd & Uold & HRARYR § S 707 U SRS 3R TIeiad 8 |
Q-110  Where is Veer Savarkar International Airport?
eng
01. Guwahati 02. Port Blair
03. Surat 04. Jammu
05. Imphal ]
Q-110 dR TTaRIR AT TS 3T HaT 82



01. TETETCY 02. U &R

03. Jd 04. ST
05. SWHId

Solution for Question 110

eng

hi

Q-111

eng

Q-111

Ans Key: 2

Veer Savarkar International Airport in Port Blair has been declared as an authorized Immigration Check post for entry into/exit from India with valid travel

documents for all classes of passengers.

¢ TR FRUT dR YraRah SIRIBIT gaTs 318 &1 qeft avif & A1fat % e Ju e gxarast & a1y HRd 9 §T6R e / a1 & forg

SRR SHTaST A UIe &% & T O fpar g1

Where is Vishwakarma Skill University?

01. Dudhola 02. Narayanapur
03. Mohanganj 04. Sitapur

05. Ramsarai

fayemuf e gfaRid s

01. geiieT 02. ARTIUYR
03. g 04. IR
05. AT

Solution for Question 111

Q-112

Q-112

Ans Key: 1

Prime Minister Narendra Modi laid the foundation stone of Vishwakarma Skill University at village Dudhola in Palwal from Sultanpur village in Gurugram

district.

TYFHAT R AIal 3 U o1 & AR T & NI AT H Ueiad foret & gaia 7id 8 a4 aret &t fagedt e fagfaemaa

Pl SMYRIRTAT T |

Which country will host the annual G20 summit in 2022?

01. Japan 02. China
03. India 04. Ttaly
05. France

2022 H B T ST I Sit -20 RRER T &t AT B2

01. SUE 02. I
03. sfgar 04. It
05. g

Solution for Question 112

Q-113

eng

Q-113
hi

India will host the annual G20 summit in 2022.

HRAT 2022 H a1ftfep Sit-20 FRRGR T b1 ASTITHT BRI

Which Ministry has launched a mobile app called Mausam?

01. Home Ministry 02. Health Ministry
03. Both (a) & (b) 04. Earth Sciences Ministry

0S. Environment Ministry

g Harerg A AW A e U Hiesd QU dr fhar g2

01. g WA 02. GRG HATT
03. 3T (A) 3R (B) 04. gt fag HaATerg
05. TAfaRor HATCR

Solution for Question 113

eng

hi

Ans Key: 3

Ans Key: 4

The Ministry of Earth Sciences launched the mobile App "Mausam” on July 27, 2020 for the India Meteorological Department on its Foundation Day
celebrations. The users will be able to access weather forecasts, radar images and be warned of the impending weather events.

G faRH HaATerd =¥ 310 RO f3ad RIS UR HRd HIGH A 4R & forg 27
JUTNTH Al TR & YafgHH, ISR Sfad &1 I dH3a T Wem g1 3R Siret 9l

ﬁzozoﬁﬁaﬁﬂﬁq"ﬁﬂﬂ"aﬁrml

HRIHH I Idla & God & |



Q-114  Which of the following is related to Tennis?
eng

01. French Open 02. Wimbledon
03. US Open 04. Australian Open
05.  All of the above

Q-114 SHIDAI MY Fafag?

hi

01. g U 02. fdgared

03. Uy i 04. SICfera i

05. Iudad qaft
Solution for Question 114 Ans Key: 5
eng Tournament : Month : City : Country : Continent : Surface : Established

Australian Open : January : Melbourne : Australia : Oceania : Hard (blue) : 1905

French Open : May — June : Paris : France : Europe : Clay (Red) : 1891

Wimbledon : June — July : London : United Kingdom : Europe : Grass (green) : 1877

US Open : August — September : New York : United States : North America : Hard (blue) : 1881

hi Eﬂfﬁ‘c’%"rﬂwaﬂﬂ%’@q
sﬁmmaﬂﬁaaﬁ@n@l%m@hﬁﬁm‘s’@‘m 1905
@HSﬁq—-—{ﬂé Gﬁﬁﬁ?{ﬂv‘mqﬁqa@f@g) 1891
faers: S - S[ATS: A T3S fh TS H: IRIT: U1 (8X1): 1877
Uy 30: 3R - RydaR: =gid - Tgad o AR IR ARDT: TS (Ha): 1881

Q-115  Which of the following river is known as the soul of Basel?

01. Rhine river 02. Amazon river
03. Seine river 04. Volga river
05. None of these

Q-115 Fufafad & 3 forg 7 &1 ST BT M1 & T T ST Sl 82

01. = 7d! 02. 3fAGH Tl
03. e 04. I et
05. 3T A PIg TRT
Solution for Question 115 Ans Key: 1

Rhine River is the soul of Basel and the heartbeat of Switzerland.

3 T, S B M IR RIeoRetS & fed B USh Pl ot g |

Q-116  Which of the following statement is true regarding BSBDA?

01. There is no requirement of maintaining 02. Maximum 4 withdrawal (including ATM withdrawals) is allowed in BSBDA
minimum balance in BSBDA

03. ATM/Debit card is provided to the 04.  All are true
customers

None of these

Q-116 aﬂw@@u%aﬁﬁﬁaﬁ«r@aﬁ@rﬁma?mw%v

hi
01. HUTEIET & A DY T @ BT 02. AT § siftiwan 4 Ferf (@ Ferh afga) @ srufa g
IS HMazgehdl TgT s
03. TATH /ST 1S Ted! &I e b 04. bt w@ §
A §
05. 39X 9 BIs A8
Solution for Question 116 Ans Key: 4
eng e There is no requirement of maintaining minimum balance in BSBDA
® Maximum 4 withdrawal (including ATM withdrawals) is allowed in BSBDA
® ATM/Debit card is provided to the customers
hi °

3%2%4 XY ST @A B PTS SHTaGDhdl T8 8
4 R (wdten Ferf 9fea) o1 srmfa &



o TCIUH/ SIC BTS ATgh! Bl Yo fby SIId & :

Q-117  Which railway station has introduced baggage sanitization and wrapping machine recently?
eng
01. Ahmedabad Railway station 02. Chennai Railway station
03. Mumbai Railway station 04. Kanpur Railway station
0S. Mangalore Railway station
Q-117 T & ¥ 5y Ia WA 7 oIS AfersoRm iR AT 77 &1 Jeend &1 g2
hi
01. 3GHGIETG XAd W 02. I9E 3Ad WIH
03. T3 Iqd WIH 04. HTYR Td LA
05. TR 3Ad €A
Solution for Question 117 Ans Key: 1
eng Ahmedabad Railway Division launched the Baggage Sanitization and Wrapping Machine at the Ahmedabad Railway station to ensure safe travel for the
passengers during the Pandemic. The Ahmedabad Railway Division has introduced the machine after considering the increase in transport and travel
services after Unlock-1 Phase.
hi STEHCTSIG XAd faHRT = HRTHRT & SR AT o fore IRfer amn e v & forg srerersTe 30d I UR s |iHerssizH 3R
e m=fe B YTema P SrEHeTaTE aa fEAIeH T STl -1 IR0 % 91 URag 3R A6 Jareit B 3fs FY ua gu =T Bt e
Eg|
Q-118  Which state government has signed MoU with Micro Tek new technologies to set up electronics manufacturing unit in the state (August 2020)?
01. Maharashtra 02. Gujarat
03. Chhattisgarh 04. Himachal Pradesh
05. None of Above.
Q-118  opH ISy WDHR = Aoy H Setae e AT 3ebTS (ST 2020) R B o fIT HIgeh! Ceb T debrilep| o ATy FHIAT FAH TR
THIER fbu 32
01. HERTY 02. ORI
03. JITTG 04. feAEAURY
05. IWIad d I DI gl
Solution for Question 118 Ans Key: 5
eng The Government of Himachal Pradesh (HP) has signed a Memorandum of Understanding (MoU) worth Rs110 Crores with Micro Tek New Technologies
Private Ltd for setting up an Electronics Manufacturing Unit at Baddi, Solan District, Himachal Pradesh. The MoU was signed by Director of Industries,
Himachal Pradesh, Hans Raj Sharma and Subodh Gupta, Chairman of MicroTek New Technologies Private Ltd.
AT Y PR (AT yaw) A S, Sier e, fgarae e=r & U soiaciHe f[aRufor s @it oA o forg argshl oo
SIS UTgde &b 1Y 110 PRI TTT & FHHAT 10T (TH3MY) TR E&ER fHT 1 MoU TR I&T 321, fermra uew, 89
37T R SR Fare T[T, ATShied g caialoiel UIgae f[Afies & oRH- - e fhu |
Q-119  Who among the following has authored the book titled as ‘One Arranged Murder’ that will be released globally on September 28, 2020?
eng
01. Jagdeep Dhankar. 02.  Anil Kapoor.
03.  Amish Tripathi. 04. Suresh yadav.
05. Chetan Bhagat.
Q-119 FafaRad & I forem 28 RIdeR, 2020 BT T 3RT AR -G THS B {39 TR IR IR faan g2
hi
01. ST YTas 02. MADPR
03. 3=y Brardt 04. R e
05. < W
Solution for Question 119 Ans Key: 5
eng Chetan Bhagat has authored the book titled as ‘One Arranged Murder’ that will be released globally on September 28, 2020.
hi I W H T 3RS AR "AHD Yo ol fordl &, il 28 RAdeR, 2020 BT A TR R Redie gt
Q-120 Who authored the book titled ‘Running Toward Mystery: The Adventure of an Unconventional Life’?

eng



01. Monika Arora. 02. Zara Houshmand.
03. Tenzin Priyadarshi. 04. Both (1) and (2).

05. Both (2) and (3).
Q-120 71 gad e T Tedar SHfth 3 AP FaTd AR UMY H ¥ s fora foredt g2

hi
01. ST 3RIST 02. TRTBISTHS
03. 3R Rrrerelf 04. (1) AR @)
05. T (2) IR (3)
Solution for Question 120 Ans Key: 5
eng The book ‘Running Toward Mystery: The Adventure of an Unconventional Life’ authored by Tenzin Priyadarshi and co-written by Zara Houshmand
released. The book provides an account of how the Dalai Lama traced his Spiritual Teacher Khunu Lama in India.
hi 3T Algs AR & USdTR 311t 3 a2 dl Rt "aikddh d-1o Uaresil gRT fordl % 8 3R g5-ferRad WRT gr39ed A Wik fohar

| GRS AT 3 WRA & S0 ST e/ T o8l & §R § 9arl §

Passage for Question 121, 122, 123, 124, 125, 126, 127, 128, 129, 130 (ST-108 RRBPO (151-160)2014)
eng Passage

In the following passage there are blanks each of which has been numbered. These numbers are given below the passage and against each five
words are suggested one of which fits the blank appropriately. Find out the appropriate word in each case.

Although he is no longer alive, (A) his influence can be felt in the studio (B) he created cartoons and feature films which made him known and (C) around the world.
(D) many people who work to create humour he took it very seriously. He would sit sadly (E) the funniest cartoon concentrating on some way to improve it. Walt
Disney (F) the opinions of those working with him but the (G) Judgement was always his. He demanded a lot (H) people but he gave a lot too. When the economy
was not doing well he gave every one a (I) and though some (J) of this, it gave his employees’ morale a boost.

hi Passage

T few e o g B o3 fad R B fQU T & au1 3% Uy T 9 gRian T § 1 A W ok & A g, U® & I (1), (2), (3),
4) 3R (5) fapeu feu U g1 37 U=l § 4 P15 Teb 39 Red WM &1 R RS & T & Iuged 3 TX1 &R 2l 8, 3MTUh! a8 fdebed I1d 2T
%@?WW@W%FGﬁW%W@W B Y T IUgdd H1 999 ST |

TH U H 1 & 3fd T foaR-fau=l 9= 7a 3571 o1, fors SRR Tad SR d18 & ISRl &1 A & avidh! R Idi 9 g1 &, Afde deia
50 TG AT Y1 TeedR + T4 31 g H Adhd T (A) 3T H Hgl, Heied o U 3R 18 3@ did STHH I I g1 b 8 | o ol & aR
H T AT 87 RS S A Wil B S S8 T 1995 & dTe; U1 gU AR ot SHrHawTsn foigTht IR it | fefored fFarit & A & of m=gR
I8 Uie! Udh Iquf (B) I H UaT 53 o | HUMAr oift T SRIRIE IR Uie! & 39 3fdR ¥ Fue &1 IoH1 ST J[& g1 HR711 al ax g1 o |

JATEHR Id1d @ fob o Sis Ut fidt 8, St FReER 31 () ) FRUfS & gl 8 1 S8R0 & forw 3y 3o 3 o) €Y 2T, o 3iv SR bl waw
| A1 SHA Wl §U I it G 36T & Salih (D) HHl 1 B 8IS UR @M & SR ST Ueiy # Pleiel BT 3R F Hell 73 UIed Il SISes 8

| T8 21 389 U [ 31U I HH M S B 39 3Mad R (E) R, ST TP JHRIHD §1d T8 ¢ b 97 9 T (F) H T & 1G] HTH TR
31t e 37l 3R 3 HehTadl S Hel dgck Mip q M|

& ¥ b Ufas & () e & wut SR a1 FHRA & ol SRR g, SR 31 3Tt 8 | STeTaR Ueeds RIshTad vd € fb S gar Jgahuf
SO IR §1d HRA B SA1G1 ddwil od ¢ | TSAIeIgIdy 0% &1 Jg Ha&iUl Jal HHATNG! &I (H) B B gahieid BT ¢ | 3§ 3 Jald 3gH gl
STd g o T 30 UTH T8 09 B b oIt T STHBRY 3R (1) § b 3TUh! gl sgelid B § 3R el Faw B oiexd geii &1 3o 3
Wﬁﬁﬁ%ﬂ,uﬁmﬁm,m%ﬁmwﬁ?%ﬁ%ﬁﬁﬁfﬂ%%ﬁﬁﬁmﬁwﬂﬁiuﬁgﬁuw%‘zm STATd G STl g
I Tieg 81 () ¥ T 81 AId 8, S I9Y R Uil & Gbraa i THCR gl | STaTd gga & ol ST Y YR gid 8 3Md |

Q-121 Choose the correct option for (A)

eng
01. yet 02. even
03. and 04. Il
05. besides
Q-121 (A) & Ior e fashed &1 7o B
hi
01. TEHR 02. YT guf
03. 3raey yuf 04. HifYd
05. ygut
Solution for Question 121 Ans Key: 1
eng 'Although' takes 'yet' with it.

Q-122 Choose the correct option for (B)



eng

01. fiom 02. where
03. which 04. while
0S. that
Q-122 (B) & ford TE! fabey &1 9o R |
hi
01. ZifcrpRY 02. fSforea
03. HAGT 04. 3MYIH
05. 3ffefied
Solution for Question 122 Ans Key: 2
eng Where (adverb)- in or to what situation or condition.
Q-123  Choose the correct option for (C)
eng
01. respect 02. seen
03. loved 04. entertained
05. laughed
Q-123 (O) & for Ugl fdded &1 9g R |
01. Py 02. TRATE
03. & 04. TS
05. =
Solution for Question 123 Ans Key: 3
Love (v)- feel deep affection.
For other options-
Entertain (v)- provide (someone) with amusement or enjoyment.
Q-124 Choose the correct option for (D)
01. for 02. to
03. without 04. not
05. like
Q-124 (D) ford W&l fdep ey T Ig B |
01. I 02. 3T
03. g 04. 37O
05. ISP
Solution for Question 124 Ans Key: 5
eng Like (preposition)- similar to.
Q-125 Choose the correct option for (E)
eng
01. on 02. untl
03. front 04. through
05. n
Q-125 (E) & ford 9t fasbed &1 981 3|
hi
01. ffar 02. M Sfad
03. 3fraireT 04. fibep
05. T
Solution for Question 125 Ans Key: 3

eng

'Front' here means 'look at something'.




Q-126 Choose the correct option for (F)
eng

01. saw 02. concluded
03. discussed 04. discouraged
05. valued
Q-126 (F) % o Ug! fdded &1 9g 1|
hi
01. e 02. faq
03. T 04. Td
05. §Hg
Solution for Question 126 Ans Key: 5
eng Value (v)- consider (someone or something) to be important or beneficial; have a high opinion of.
For other options:
Discourage (v)- lowered morale.
hi
Q-127 Choose the correct option for (G)
01. final 02. yltimately
03. important 04. hasty
05. [asting
Q-127 (G) % ford gl fddhed o1 T B |
01. ggHHT 02. foemeff
03. UseH 04. HHART
05. 3fferepRY
Solution for Question 127 Ans Key: 1
For other options:
Ultimately (adv)- at last
Lasting (adj)- enduring
Q-128 Choose the correct option for (H)
01. by 02. fiom
03. with 04. to
05. many
Q-128 (M) & o Ugl fadbed BT Ig B
hi
01. 3afdd 02. Tad
03. yifdra 04. T
05. 9xMad
Solution for Question 128 Ans Key: 2
eng From (preposition)- indicating a source of knowledge or the basis for one's judgement.
Q-129 Choose the correct option for (I)
eng
01. advance 02. share
03. fee 04. raise
0S. profit
Q-129 @ & o) Ug! fadey &1 Ig4 |
hi
01. qH-1h 02. 3iHg
03. o 04. FUER



05. BTGB

Solution for Question 129 Ans Key: 2

eng Share (n)- a part or portion of a larger amount which is divided among a number of people, or to which a number of people contribute.

Q-130 Choose the correct option for (J)

eng
01. credit 02. disapproved
03. criticized 04. offended
05. paid

3'130 @) & ford et fashe &1 9= AR
01 §g o 02. SIS
03. IS 04. THRI O
05. TH-IRE oA

Solution for Question 130 Ans Key: 2

eng Disapprove (v)- have or express an unfavourable opinion.
For other options:

Credit (n)- praise
Offend (v)- hurt

hi

Passage for Question 131, 132, 133, 134, 135 (ST-108 RRBPO (146-150) 2014)
eng Passage

Rearrange the following six sentences (A), (B), (C), (D), (E) and (F) in the proper sequence to form a meaningful paragraph; then answer the questions’ given
below them.

(A) Thus rapid development is still unable to meet demand.

(B) Surplus funds from hikes in passenger fares and cuts in staff have made this possible.

(C) This demonstrates that it has been transformed into a modern high standard design and high service reliable system.

(D) However China’s railways are not problem free.

(E) China’s railways have been able to generate the funds needed for the construction of new railway lines internally.

(F) For example at present about 2,80,000 cars are requested daily to transport goods but only half the requests can be met.

hi Passage

2 (A), B), (©), (D) 3R (B) ¥ IS B T T &1 37 Tt 1 i 1 39 avg Hafyd HRY for 370 e sriyef uRde 9+ s | e Sus
| a1 fau 7T Uit &1 IR e

(A) TS FGi AT HTOT G T < Th gaT W1 g3 3R I HaAM I U1 o 3517 garsii ¥ food a7 &1 o) T8l gl
(B) T3 ITd Ugd gd vufd TSl Siegd Hatd e & ST &l Faierd & 3@ Ul

(C) HAH i 37@Td g T

(D) S T T IS SfaTel foan IR 39 a1 3 7! <ell ) WIS R o 37k Qe & fGelmp S varard 81 X871 8, S8 I |
(E) 3511 B Y Hal AgTd B Siacy, FolIR, I71HD, ARG 3R Il 971 o1 3MgH |

Q-131 Which of the following is the FIRST sentence after rearrangement ?

eng
01. A 02. B
03. C 04. D
05. E

Q-131 IWIad T Y DI T YTHIRIT & d1¢ MRAL ara g 2
hi

01. E 02. A

03. D 04. B

05. C
Solution for Question 131 Ans Key: 5
eng The arrangement would be EBCDFA. The paragraph discusses the achievements and challenges faced by China’s railways.

hi IR BEADC BT




Q-132

eng

Which of the following is the THIRD sentence after rearrangement ?

01. A 02. B
03. C 04. E
05. F
Q-132 IWIad T Y S T YIHGRIT & TG AR a1 G
hi
01. g 02. B
03. A 04. D
05. C
Solution for Question 132 Ans Key: 3
eng The arrangement would be EBCDFA. The paragraph discusses the achievements and challenges faced by China’s railways.
hi ARIT BEADC BT
Q-133  Which of the following is the SECOND sentence after rearrangement?
eng
01. A 02. B
03. C 04. D
05. E
Q-133 SWIad ¥ ¥ B AT GIHIRIT & §IG GuRT a1ad GRT 2
01. B 02. E
03. C 04. D
05. A
Solution for Question 133 Ans Key: 2
The arrangement would be EBCDFA. The paragraph discusses the achievements and challenges faced by China’s railways.
IR BEADC BT
Q-134  Which of the following is the SIXTH (LAST) sentence after rearrangement ?
01. A 02. B
03. C 04. D
05. F
Q-134 SWRIad ¥ T S AT IR & SIE T T g
01. D 02. B
03. A 04. E
05. C
Solution for Question 134 Ans Key: 1
eng The arrangement would be EBCDFA. The paragraph discusses the achievements and challenges faced by China’s railways.
hi IR BEADC 3 1
Q-135 Which of the following is the FIFTH sentence after rearrangement ?
eng
01. A 02. C
03. D 04. E
05. F
Q-135 IWIad T ¥ S AT YTHIRIT & I1 Ugdl aTa R 2
hi
01. D 02. E
03. A 4. C
05. B
Solution for Question 135 Ans Key: 5



eng The arrangement would be EBCDFA. The paragraph discusses the achievements and challenges faced by China’s railways.
hi IR BEADC 6 1

Passage for Question 136, 137, 138, 139, 140 (ST-108 RRBPO (131-135) 2014)
eng Passage

Read the following passage carefully and answer the question given below it. Certain words have been printed in bold to help you locate them while answering
some of the questions.

Agriculture has always been celebrated as the primary sector in India. Thanks to the Green Revolution, India is now self-sufficient in food production. Indian agricul-
ture has been making technological advancement as well. Does that mean everything is looking bright for Indian agriculture ? A superficial analysis of the above
points would tempt one to say yes, but the truth is far from it. The reality is that Indian fanners have to face extreme poverty and financial crisis, which is driving them|
to suicides. What are the grave adversities that drive: the farmers to commit suicide, at a time when Indian economy is supposed to be gearing up to take on the
world ?

Indian agriculture is predominantly dependent on nature. Irrigation facilities that are currently available, do not cover the entire cultivable land. If the farmers are at
the mercy of monsoons for timely water for their crops, they are at the mercy of the government for alternative irrigation facilities. Any failure of nature, directly
affects the fortunes of the farmers. Secondly, Indian agriculture is largely an unorganised sector, there is no systematic planning in cultivation, farmers work on lands
of uneconomical sizes, institutional finances are not available and minimum purchase prices of the government do not in reality reach the poorest farmer. Added to
this, the cost of agricultural inputs have beer, steadily rising over the years, farmers’ margins of profits have been narrowing because the price rise in inputs is not
complemented by an increase in the purchase price of the agricultural produce. Even today, in several parts of the country, agriculture is a seasonal occupation. In
many districts, farmer’s get only one crop per year and for the remaining part of the year, they find it difficult to make both ends meet.

The farmers normally resort to borrowing from money lenders, in the absence of institutionalized finance. Where institutional finance is available, the ordinary farmer
does not have a chance of availing it because of the “procedures” involved in disbursing the finance. This calls for removing the elaborate formalities for obtaining the
loans. The institutional finance, where available is mostly availed by the medium or large land owners, the small farmers do not even have the awareness of the
existence of such facilities. The money lender is the only source of finance to the farmers. Should the crops fail, the farmers fall into a debt trap and crop failures
piled up over the years give them no other option than ending their lives.

Another disturbing trend has been observed where farmers commit suicide or deliberately kill a family member in order to avail relief and benefits announced by the
government to support the families of those who have committed suicide so that their families could atleast benefit from the Government’s relief programmes. What
then needs to be done to prevent this sad state of affairs ? There cannot be one single solution to end the woes of farmers.

Temporary measures through monetary relief would not be the solution. The governmental efforts should be targeted at improving the entire structure of the small
wherein the relief is not given on a drought to drought basis, rather they are taught to overcome their difficulties through their own skills arid capabilities. Social
responsibility also goes a long way to help the farmers. General public, NGOs, Corporate and other organisations too can play a part in helping farmers by adopting
drought affected villages and families and helping them to rehabilitate.

The nation has to realise that farmers’ suicides are not minor issues happening in remote parts of a few states, it is a reflection of the true state of the basis of our
economy.

hi Passage

12 fou U U U H W3 T Th JHE TT hls A A 16T H foral T 8 | a1/ & = (1), (2), (3) 3R (4) fdpea fRumu g1 370 4 39
fapea &1 9= SIfSTE o1 o aTeT & A 37eR} aTd WM R 39 a8 391 ol T & 98 9190 &7 31 Sed TR I Al &R ard HIT &1 S8 d
1 3R BIs fAPhed I AR &R aTe U BT ST Tl o TebdT dl IR (5) ST, 3rfe <T=ne 3mawaes 8T |

Q-136 Choose the word which is most OPPOSITE in meaning to the word given in bold as used in the passage.

eng
NARROWING
01. Broadening 02. Stretching
03. Changing 04. Increasing
0S. Extending
Q-136 HRd g 1 Ul ad g8 <fAfdoH IR B |
hi
01. TR Y &g 02. IR HEH §a1
03. GERTUEH g8 04. TERT IS ST
05. RMNY RIS g1
Solution for Question 136 Ans Key: 4
eng Increasing

For other options:
Stretching (v)- extending




Q-137

eng

Q-137

Choose the word which is most OPPOSITE in meaning to the word given in bold as used in the passage.

SUPERFICIAL

01. Careless 02. Profound
03. Extreme 04. Articulate
05S. Fear

‘1991 7 Fedlse 3R Had Idt 3 F a5 fefrecdionrur HRdg cifacH & TOR & Jed geTscad g I’

01. & gFar P 02. FIgFATH

03. HITRH 04. FIIRY
05. MY 3TaRID gt

Solution for Question 137

Ans Key: 2

eng

Superficial (adj)- apparent
Profound (adj)- keen

For other options:
Articulate (adj)- fluent

Q-138

Q-138

Choose the word which is most SIMILAR in meaning to the word given in bold as used in the passage.

WOES

01. Suﬂél‘ing 02. Tragedy
03. Bitterness 04. Anger
05. Fear

ST & Cfifao ST % HIHBTS 3iihs HRd b HHEd A 2|

01. oA 02. T
03. Y9 04. TSTHTS
05. RN HTaID -Ta!

Solution for Question 138

Q-139

Suffering
For other options:
Tragedy (n)- unfortunate happening

Choose the word which is most SIMILAR in meaning to the word given in bold as used in the passage.

GRAVE

01. Cemetery 02. Fatal
03. Trivial 04. Carve

05. Severe

Q-139 N &I H AH BIe ol d%h S IF AT |

hi

01. B Dol 02. SSHo
03. AgTS 04. TH 3RE
05. TN MTIRTS Tal

Solution for Question 139

Ans Key: 1

Ans Key: 5

eng

Severe

For other options:
Cemetery (n)- burial ground
Fatal (adj)- harmful

Trivial (adj)- unimportant
Carve (V)- sculpt

Q-140

eng

Choose the word which is most SIMILAR in meaning to the word given in bold as used in the passage.

BRIGHT



01. Glowing 02. Radiant

03. Promising 04. Lustrous
05. Dazzling
Q-140 = 3nft el 3= > RIS H1 &t AT qaT
hi
01. 3nft 3= =t 02. ot st
03. 3t 31y g} 04. 30 JHHE Sl
05. RN =TS g1
Solution for Question 140 Ans Key: 3
eng Promising

For other options:

Lustrous (adj)- shining

Radiant (adj)- shining

Dazzling (adj)- extremely bright

7 Passage for Question 141, 142, 143, 144, 145, 146, 147, 148, 149, 150 (ST-108 RRBPO (121-135) 2014)
eng Passage

Read the following passage carefully and answer the question given below it.

Agriculture has always been celebrated as the primary sector in India. Thanks to the Green Revolution, India is now self-sufficient in food production. Indian agricul-
ture has been making technological advancement as well. Does that mean everything is looking bright for Indian agriculture ? A superficial analysis of the above
points would tempt one to say yes, but the truth is far from it. The reality is that Indian fanners have to face extreme poverty and financial crisis, which is driving them
to suicides. What are the grave adversities that drive: the farmers to commit suicide, at a time when Indian economy is supposed to be gearing up to take on the
world ?

Indian agriculture is predominantly dependent on nature. Irrigation facilities that are currently available, do not cover the entire cultivable land. If the farmers are at
the mercy of monsoons for timely water for their crops, they are at the mercy of the government for alternative irrigation facilities. Any failure of nature, directly
affects the fortunes of the farmers. Secondly, Indian agriculture is largely an unorganised sector, there is no systematic planning in cultivation, farmers work on lands
of uneconomical sizes, institutional finances are not available and minimum purchase prices of the government do not in reality reach the poorest farmer. Added to
this, the cost of agricultural inputs have beer, steadily rising over the years, farmers’ margins of profits have been narrowing because the price rise in inputs is not
complemented by an increase in the purchase price of the agricultural produce. Even today, in several parts of the country, agriculture is a seasonal occupation. In
many districts, farmer’s get only one crop per year and for the remaining part of the year, they find it difficult to make both ends meet.

The farmers normally resort to borrowing from money lenders, in the absence of institutionalized finance. Where institutional finance is available, the ordinary farmer
does not have a chance of availing it because of the “procedures” involved in disbursing the finance. This calls for removing the elaborate formalities for obtaining the
loans. The institutional finance, where available is mostly availed by the medium or large land owners, the small farmers do not even have the awareness of the
existence of such facilities. The money lender is the only source of finance to the farmers. Should the crops fail, the farmers fall into a debt trap and crop failures
piled up over the years give them no other option than ending their lives.

Another disturbing trend has been observed where farmers commit suicide or deliberately kill a family member in order to avail relief and benefits announced by the
government to support the families of those who have committed suicide so that their families could atleast benefit from the Government’s relief programmes. What
then needs to be done to prevent this sad state of affairs ? There cannot be one single solution to end the woes of farmers.

Temporary measures through monetary relief would not be the solution. The governmental efforts should be targeted at improving the entire structure of the small
wherein the reiief is not given on a drought to drought basis, rather they are taught to overcome their ditficuities through their own skills arid capabilities. Social
responsibility also goes a long way to help the farmers. General public, NGOs, Corporate and other organisations too can play a part in helping farmers by adopting
drought affected villages and families and helping them to rehabilitate.

The nation has to realise that farmers’ suicides are not minor issues happening in remote parts of a few states, it is a reflection of the true state of the basis of our
economy.
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Q-141  What s the author’s main objective in writing the passage?

01. Criticising the policy of providing relief 02. To appeal to the non-institutional money lenders for providing loans to farmers in a hassle- free
packages to the family of farmers who manner
commit suicide

03. To applaud the dauntless spirit of the 04. To highlight the drawbacks in the agriculture sector
farmers

05. None of these
Q-141 3 FI NG &l faemlf THgeRt 11 U o SR a1 dl d BHiad BIs 37 AT ik TH Hiarel 3R UTeashd AT Sl JAHT HiasT AR &
hi HaGIR Yifed 81 9eb | Ul UR Hid® YarA § 1 HegiR difed glil?

01. YT e 02. HHFBT e

03. 3yfe fRram 04. TRTAYe fRram

05. Ty FRrem
Solution for Question 141 Ans Key: 5
eng The answer is inference based.

Q-142  Why is the profit margin of farmers narrowing even after increasing the minimum purchase price?
eng
(A) The minimum purchase price of the government is too low to make any profit.
(B) The quality of the inputs such as seeds and fertilizers is very poor.
(C) There has been a continuous rise in the price of agricultural inputs which adversely affects the profit.

01. Only A 02. OnlyB
03. OnlyC 04. Only A and C

05. None of these
Q-142 WT%WW@WWWMW%WWWW%WW%@?Wmu-muaﬁmq|W|<Q§qﬂhqqmq|
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01. QT 02. TR UTG!
03. ORI 04. 3T
05. 370 I IS gl

Solution for Question 142 Ans Key: 3

eng

The cost of agricultural inputs have beer, steadily rising over the years, farmers’ margins of profits have been narrowing because the price rise in inputs is
not complemented by an increase in the purchase price of the agricultural produce.

Q-143  According to the passage, how can general public lend a helping hand to the struggling farmers?
eng
01. By adopting the affected families and 02. By acting as a relief worker in the drought hit areas
helping them to rehabilitate
03. To provide help for building dams and 04. Not specified in the passage
better irrigation facilities
05. None of these . '
Q-143  WIHIR M 3R Bl FHed § & Hias I gIRIA e aren ard AT 3R el & Fram oR smenfa u1i 1 3R 3yfd &1 gR wreg &
hi 1 HBI Il 82
01. fEHis wd v 02. fEuis
03. IS 04. ATYI
05. 39 I BIS g
Solution for Question 143 Ans Key: 1
General public, NGOs, Corporate and other organisations too can play a part in helping farmers by adopting drought affected villages and families and
helping them to rehabilitate.
Q-144  According to the passage, why don’t farmers avail the institutional finance facilities?
01. Banks are not willing to provide loans to the 02. Many NGOs and corporate organisations provide them the loans in a hassle free manner
farmers because of high risk associated
with it
03. Most of the farmers do not need finance in  04. The local money lenders charge lower interest rates as compared to such financial facilities
large scale since they work on small size
lands
05. None of these
Q-144 T TSR H USRI U Rufe & SaR 3t & af 2000 I 2008 & st HA1ae f$3t 4 fodt aafda &1 ofiad oma & v Sfer
hi 3 3% BT FRTEC 31152
01. 1,000 SITR 02. 5,000 SIeR
03. 3,000 SITR 04. 4,000 SITR
05. 2,000 SR
Solution for Question 144 Ans Key: 5
eng The institutional finance, where available is mostly availed by the medium or large land owners, the small farmers do not even have the awareness of the
existence of such facilities.
Q-145 What are the adversities faced by Indian farmers, according to the passage?
eng
01. Lack of adequate irrigation facilities 02. Ownership of only a small piece of land by a majority of farmers, which fails to generate any profit
03. Lack of financial help to the farmers 04.  All of these
05. None of these
Q-145 TN ureTshal & D17 Il UgTs ST &I 3B d B H HIHaE W6
hi
01. arfory 02. HIYR WEH
03. e 04. T SR PR
05. 3T Y BIS Aol
Solution for Question 145 Ans Key: 4
eng The answer lies in the third paragraph.




Q-146 What does the author suggest as opposed to providing temporary monetary relief to the farmers?

eng
(A) To improve the entire agricultural setup in India instead of providing relief in the face of adversities.

(B) Providing the local moneylender with large amount of money so that small farmers can easily obtain loans from them.
(C) Empowering the farmers so that they can sustain a livelihood throughout life without having to face the desperation that adversity drives them to.

01. OnlyA 02. Only AandB
03. OnlyB 04. OnlyAandC

05. None of these
Q-146 Ul fRigf D1 T URA H D I Fg T

hi

01. 37SIE ¥ Ugad 02. Had 1 3R 2

03. 1990 % GH H 04. 3MTSITET b dTG

05. ST q PIS TET
Solution for Question 146 Ans Key: 4
eng The answer lies in the fifth paragraph.

Q-147  Which of the following is NOT TRUE in the context of the passage?
eng

01. Many farmers struggle to sustain themselves 02. The government has relieved the farmers from any elaborated formalities while availing the loans
after reaping one crop in a year

03. India was made self sufficient in food 04. Some farmers commit suicide in order to avail relief package from the government
production because of green revolution

05. None of these

Q-147 317 Ul Sl 1 v 3 o el R e R

01. §ARY 02. HIABIA!
03. §iSg 04. SATRISIG
05. g9H Y PIS 8T
Solution for Question 147 Ans Key: 2

The answer can be inferred from the second and the third paragraphs.

Q-148  According to the author, why does the situation of agricultural sector remain grim even after making several technological advances ?

01. Indian farmers continue to face adversities 02. India has failed to match the technological advances taking place in the rest of the world
from nature as well as from the government.

03. Natural calamities have been very frequent 04. Banks have failed to provide adequate loans to the farmers
in India
05. None of these

Q-148 fau M weyier & Uyt Areft o1 wafgarh o g

hi

01. TT8T ekt 02. Ha et

03. TeAHTel Qeft 04. YT Reft

05. T8 q PIs g
Solution for Question 148 Ans Key: 1
eng Indian farmers have to face extreme poverty and financial crisis, while Any failure of nature, directly affects the fortunes of the farmers.

Q-149  Why have many farmers resorted to killing family members?

en
& (A) Itis difficult for the farmers to sustain their family’s livelihood.

(B) So that the killed family member may get rid of the persistent adversities.
(C) To avail relief package announced by the government to support the family of those who commit suicide.

01. Only A 02. OnlyB
03. OnlyBandC 04. Only Aand B
05. None of these

Q-149 TR A WA ‘§¢ PIbT Xeg BT YA b fer fapar T 81



01. g% HiE 02. 3 & [T

03. 3q & T 04. Q& T
05. 370 I IS gl
Solution for Question 149 Ans Key: 3
eng Farmers commit suicide or deliberately kill a family member in order to avail relief and benefits announced by the government to support the families of
those who have committed suicide so that their families could atleast benefit from the Government’s relief programmes.
hi 3 & Il

Q-150 What does the author mean by “procedures” when he says that ‘farmers do not get a chance of availing institutional finance because of procedures involved
eng init’?

01. He refers to the government guideline of ~ 02. Refers to the strict government rule of providing loans to only such farmers who can guarantee a
disbursing finance only to medium and large default free tenure
land owners

03. The formalities to avail these facilitiesare ~ 04. Refers to the danger the farmers must face from the local money lenders if they availed the loan
enormous and too difficult for an ordinary from government instead
farmer to understand

05. None of these
Q-150 3o e BIRER I & IRTURR B 71T & d IR Wz o AID| BT UTS B SMUHT ST Hofd I 8 | 39 a1 B Ugard Teg 311 &1
Tl BT g o ITP! W8 WR fob s Treq b1 YA foba a2
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03. HUE 04. TSIt
05. g9H Y PIS 8T
Solution for Question 150 Ans Key: 3

The answer lies in the third paragraph.

Q-151 Read each part of the sentence to find out whether there is any grammatical error in it. The error, if any, will be in one part of the sentence. The number of
that part is the answer. If there is no error, the answer is (5) i.e. “No Error’.

Inspite of (1)/ so many hardships (2)/ Amar has managed (3)/ to success. (4)/ No error (5)

01. 1 02. 2
03. 3 04. 4
0s. 5
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01. | 02. 2

03. 3 04. 4

05. 5
Solution for Question 151 Ans Key: 4
eng ‘Succeed’ should replace ‘success’ -After ‘to’ a verb is to be used, to get the proper meaning.

Q-152 Read each part of the sentence to find out whether there is any grammatical error in it. The error, if any, will be in one part of the sentence. The number of
eng that part is the answer. If there is no error, the answer is (5) i.e. ‘No Error’.

Mr. Sethi was (1)/ not given a promotion (2)/ because he was (3)/ frequent absent. (4)/ No error (5)

01. 1 02. 2
03. 3 04. 4
05. 5
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01. 1 02. 2

03. 3 04. 4

05. 5
Solution for Question 152 Ans Key: 4
eng ‘Frequently’ should replace ‘frequent’- an adverb is required to qualify an adjective.

Q-153 Read each part of the sentence to find out whether there is any grammatical error in it. The error, if any, will be in one part of the sentence. The number of
eng that part is the answer. If there is no error, the answer is (5) i.e. ‘No Error’.

Instead criticizing (1)/ why don’t (2)/ you help (3)/ with the presentation ? (4)/ No error (5)

01. 1 02. 2
03. 3 04. 4
05. 5
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Solution for Question 153 Ans Key: 1

‘Instead’ is always followed by of .

Q-154 Read each part of the sentence to find out whether there is any grammatical error in it. The error, if any, will be in one part of the sentence. The number of
that part is the answer. If there is no error, the answer is (5) i.e. ‘No Error’.

The company’s new project (1)/ cannot be launched (2)/ unless the approval (3) / of the Board. (4)/ No error (5)

01. | 02. 2
03. 3 04. 4
05. 5
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01. 1 02. 2

03. 3 04. 4

05. 5
Solution for Question 154 Ans Key: 3
eng “Till’ should replace ‘unless’- it refers to the condition ‘something happens or not’

Q-155 Read each part of the sentence to find out whether there is any grammatical error in it. The error, if any, will be in one part of the sentence. The number of
eng that part is the answer. If there is no error, the answer is (5) i.e. “‘No Error’.

Mayank has been assigned (1)/ with that team (2)/ because he is (3)/ well qualified and experienced. (4)/ No error (5)

01. 1 02. 2
03. 3 04. 4
05. 5
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01. 1 02. 2

03. 3 04. 4

05. 5
Solution for Question 155 Ans Key: 2
eng ‘Assigned’ is followed by preposition ‘to’, so replace 'with' with 'to’.

Q-156 Which of the phrases (1), (2), (3) and (4) given below the statement should replace the phrase given in bold in the sentence to make it grammatically
eng correct? If the sentence is correct as it is given and ‘No correction is required’, mark (5) as the answer.

He was told for report back to the camp in the middle of the holidays when the tension at the border aggravated.

01. Heis told for 02. He was telling to
03. He would told for 04. He was told to

05. No correction required
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01. &fad 02. gfrd
03. FHaraq 04. FfIa
05. gfud
Solution for Question 156 Ans Key: 4

“Told’ is to be followed by ‘to’, as to takes v1.

Q-157 Which of the phrases (1), (2), (3) and (4) given below the statement should replace the phrase given in bold in the sentence to make it grammatically
correct? If the sentence is correct as it is given and “No correction is required’, mark (5) as the answer.

Although Revansh is a reputed speaker, today his speech were irrational and full of ambiguities.

01. speeches was irrational 02. speech was irrational
03. speech were irrationals 04. speech are irrational

05. No correction required
Q-157 :ﬁ%%qwmugrﬁwﬂaawwg&néaﬁww:ﬁ%mﬂwwwﬁlsﬂﬁQWwwﬁﬂaﬂwmwéﬁﬁa—g
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01. 3ThelA 02. FhoH

03. fapaH 04. gR&HH

05. 3ip+
Solution for Question 157 Ans Key: 2
eng ‘Speech’ is a singular noun, so use singular verb 'was'.

Q-158 Which of the phrases (1), (2), (3) and (4) given below the statement should replace the phrase given in bold in the sentence to make it grammatically
eng correct? If the sentence is correct as it is given and “No correction is required’, mark (5) as the answer.

Psychologists are making their best efforts to understand the reason behind unruly behaviour of adolescents.

01. for understand the 02. to understanding the
03. to understands the 04. to understood the



05. No correction required
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01. Wd 02. g
03. 1Y 04. 3T
05. e
Solution for Question 158 Ans Key: 5
eng to takes v1 after it.
Q-159 Which of the phrases (1), (2), (3) and (4) given below the statement should replace the phrase given in bold in the sentence to make it grammatically
eng correct? If the sentence is correct as it is given and “No correction is required’, mark (5) as the answer.
He donated his entire wealth to an orphanage since he didn’t have a children of his own.
01. have any children 02. had any child
03. hasa child 04. has any children
0S. No correction required
Q-159  =Idl feu 7T Y U3 H Uep e W BT g3 8 3R I il Uil Woq AU TU S | 37 § bl Toh e bl Rkl WM TR I A Y a8
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01. T 02. &
03. OFd 04. TiGTd
05. furd
Solution for Question 159 Ans Key: 1
'Any' is the correct choice ------ to express 'negation'.
Q-160 Which of the phrases (1), (2), (3) and (4) given below the statement should replace the phrase given in bold in the sentence to make it grammatically
correct? If the sentence is correct as it is given and ‘No correction is required’, mark (5) as the answer.
The employees offers to work overtime without any compensation to increase the profit.
01. are offering to work 02. are offer to working
03. is offered for work 04. are offered to work
05. No correction required
Q-160 =< foU 7Y Ys T3 # Uep R R BT gafT & 3TR IFb fi Uil Woq FHU US| 37 9 febell Ueb e o] el WM TR IW 34 § a8
hi I T AUl aTeR & ST 3 | T Uea Bl J1d B SUD! hH HBAT Bl SR P ¥ U H 3ifhd PIfoIY| Sah! oy 7 eal # § walfde
JUgad et HT 99 HRAT B |
a9 SR Mt S sg g H Yo g T Ieali ... REEE]
01. Hdx 02. §cdM
03. dx 04. &
05. WRUY
Solution for Question 160 Ans Key: 4
eng “The employees’ is the third person plural and therefore the verb is to be used in the 'first form' without s’ or ‘es’
Q-161 Ifyou need to change the typeface of a document, which menu will you choose?
eng

Q-161

01. Edit 02. View
03. Format 04. Tools
05. Insert

I 3 STagic & TTIUDBY P! IGa- B Sevd gl dl 34 DI T A A2



01. ufge 02. &
03. Hifc 04. TH
05. 3
Solution for Question 161 Ans Key: 3
eng If you need to change the typeface of a document, you choose format menu.
hi Tie 3MTYeh! foh el GXATAST o CTUBH SGaT i SReXd & dl 31U BIHT B b1 I+ Hd 3 |
Q-162  All computers execute
eng
01. BASIC programs 02. COBOL programs
03. Machine language program 04. FORTRAN programs
05. PL/1 programs
Q-162 T HmR TR A B
hi
01. dfyes W 02. PIsIel YA
03. TR TS U 04. IcH TRIH
05. PL/1 URIH
Solution for Question 162 Ans Key: 3
All computers execute Machine language program.
T pugeR, FRf HTST 9RTH Tfeee BRd B
Q-163  Which of the following is the most oriented to scientific programming?
01. FORTRAN 02. FORTRAN
03. BASIC 04. pL/1
05. RPG
Q-163 U H I DI a1 W R T8 SaTeT e g2
01. BRSHA 02. el
03. s 04. PL/1
05. RPG
Solution for Question 163 Ans Key: 1
FORTRAN is the most oriented to scientific programming.
WRCH R1-d YT R & ol Tad e S+ 3 |
Q-164 What s the control unit’s function in the CPU?
eng
01. To transfer data to primary storage 02. To store program instruction
03. To store program instruction 04. To decode program instruction
05. None of these
Q-164 CPUH Hd (e &1 T Ha-M g2
hi
01. TEF WRV A SRR BT 02 TR SaRH WR BT
03. QoI SHTIRRM TRBIH BT 04. YIUTH SR D fSDIe AT
05. T8 4 Pl G
Solution for Question 164 Ans Key: 4

eng The control unit's function in the CPU is to decode program instruction.
hi g H Bl GHie BT -, UIUTH 3R D [Shls HRATaldl |
Q-165 What is meant by a dedicated computer?

eng



01. which is used by one person only 02. which is assigned to one and only one task

03. which does one kind of software 04. which is meant for application software only
05. All of the above
Q-165 DS FER BT T 3 52
hi
01. S Paa @ AR AT 02. R & SR I TP T 313 a1 S g |
SArg |
03. S TP UPR PIAUCaR XA 04. Rd! Hadt U3 e diR ¥ Adad gidl g |
05. IR gt
Solution for Question 165 Ans Key: 2
eng A dedicated computer which is assigned to one and only one task.
hi T SfEDHCS DL Uh 3R DHad Ueh &l HTH DR b folT ST BIAT B |
Q-166 The most common addressing techiniques employed by a CPU is
eng
01. immediate 02. direct
03. indirect 04. register
05. All of the above
Q-166 CPU gRI Faiford e 9= USRIt efarids HEIE]
01. 3RS 02. SRRGT
03. ISRT 04. IR
05. IWRIe FHi
Solution for Question 166 Ans Key: 5
The most common addressing techniques employed by a CPU is immediate, direct, indirect and register .
TS g gRT i gad amra TSR da-iid, SMfSue, SR, SSrRac 3R AR gl 8 |
Q-167 Pipeline implements
01. fetch instruction 02. decode instruction
03. fetch operand 04. calculate operand
05.  All of the above
Q-167 URUARA SR BT 2|
01. F XA 02. fSPIs I
03. g RS 04. DHAGIC HRT
05. JURIad HHI
Solution for Question 167 Ans Key: 5
eng Pipeline implement fetch instruction, decode instruction, fetch operand, and calculate operand.
hi TSNS, Bd 3K aRM , (SIS IWARM BT RS 3R HAhC RS DI bl FHIHC BT 5 |
Q-168 Which of the following code is used in present day computing was developed by IBM corporation?
eng
01. ASCII 02. Hollerith Code
03. Baudot code 04. EBCDIC code
05. None of these
Q-168 T IBM HIURTH gRT AR B9 A1 His, I § v fovan S g2
hi
01. ASCH 02. BIeRYPIS
03. SISIC HIS 04. EBCDIC $IS
05. T8 q PIs A8
Solution for Question 168 Ans Key: 4
eng EBCDIC code is used in present day computing was developed by IBM corporation.




hi EBCDIC 1S qaH ST # WaRT fHaT SIraT @ Sl SMSeed SRURRA gRT fasiya foar T

Q-169 The Undo command is useful for?
eng

01. Restoring to disk the last file deleted. 02. Reversing the most recent action or command.
03. Clears the contents of the clipboard. 04. Clears the document window.

05. Clears the document window.

Q-169 3Fg HHIS ------- ¥ fore i faar ST g |

01. ARSI PRAPI PR 02. T HHS I TRM $I R ST
RER B

03. f3IUSEIS & Hrewc B B BT 04. SrRgHC fdS! foeaR B
05. 0 TR P &1 §R QreH|

Solution for Question 169 Ans Key: 2
eng The Undo command is useful for reversing the most recent action or command.
hi 3G IS, T TRM I HHIS bl Rl HA & oIt T giar s |
Q-170 Word can be used to create
01. Letters 02. Spreadsheets
03. Database files 04. Presentations
05. Tmage files
Q-170 TS HI 9 & forg yai fpar S 8 |
01. Uz 02. Wsefie
03. STeey HIsd 04. TSI
05. SO B
Solution for Question 170 Ans Key: 1
Word can be used to create letters.
IS U 91 & foIU S¥ciATe] ol Sl 9ebell 5 |
Q-171 In Word, the status bar tells the user:
01. What page the user is working on. 02. The current date and time.
03. The position of the cursor. 04. Only 1 and 3
05. None of these
Q-171 R WcHTR IR B --moemmv , cRIfar 81
hi
01. 59 0 UR goR H1d a1 02. A IRNG 3R IHg
03. HER & U 04. Had | 3R 3
05. T8 I PIs g
Solution for Question 171 Ans Key: 4

eng In Word, the status bar tells the user at what page the user is working on and the position of the cursor.

hi I3 H, Tl IR ITARTEH BI I8 IdTdl & 1o JoR [l J§ TR TR HTH B 361 5 3R B DI (Ul R 5|

Q-172  The keyboard shortcut to justify text is:
eng

01. Ctul+L 02. Ctl+R
03. Ctrl+E 04. Ctrl+1]
05. None of these

Q-172 THc IRCHE & U BIaS AeHT -----no- Bz

hi

01. Curl+L 02. Ctul+R



03. Cul+E 04. Ctrl+J

05. 90 q DI 1G]
Solution for Question 172 Ans Key: 4
eng The keyboard shortcut to justify text is Ctrl + J.

hi 3R DI SRITTS PR o (07T DlalS Vehe Cirl +J B |

Q-173 Ifthe user tries to exit the Word application without saving the document, Word will:
eng

01. Exit and the user will lose his/her work. 02. Prompt the user to save his/her work.

03. Tells the user that he/she is unable to exit ~ 04.  Prompt the user with the Save as dialog box.
and will return to the document.

05. None of these

Q-173 3 IoR, o€ U= ¥ Sy &I JRid ford fomm Slaghic ¥ Adem &1 SRR a1 8, @ ae -

o1. a@zam@?wmm@ 02. ToR Y IYBI B §d B BT eI 2 |
|

03. ToR &) dTdl 3 b a8 Tadie TETdY 04. YoR &1 g Tol SR s P oy pear g |
%%@TW\J e o 9T die
|

05. 79§ PIS 5T

Solution for Question 173 Ans Key: 2

If the user tries to exit the Word application without saving the document, Word will prompt the user to save his/her work.

gﬁqyﬂ,aéqwﬁ@mﬁgﬁqﬁ?ﬁgﬁm%aﬁmﬁa@?@ﬁwﬁﬁﬁmm%a‘raﬁwﬁwmﬁaaﬁﬁm
|

Q-174  Which of the following tabs are found in the Microsoft Word Help menu?

01. Contents tab 02. Wizard tab
03. Index tab 04. All of the above

05. None of these

Q-174 WSHNIUC g8 oo B # I 99 & &I 91 <9 Urn ofrell 62

01. Py o 02. faore 29
03. 3T 04. IRYad goft
05. 399 T DS T8t
Solution for Question 174 Ans Key: 4

Contents tab, Wizard tab and Index tabs are found in the Microsoft Word Help menu.

hi Hec o, [IeTS ¢, 3R SS9 CF, AT J8 ged H H UL o & |

Q-175 What do you mean by the vertical separation between columns?

eng
01. gutter 02. Margin
03. Index 04. orientation
0S. Indent
Q-175 Wi F fiv ara YRR F1 1 3 52
hi
01. TR 02. #IfH
03. 3 04. 3ffvERH
05. 33<
Solution for Question 175 Ans Key: 1
eng The vertical separation between columns mean gutter margin.

hi YT P g aced YU, TTex AT gidT g |

Q-176 What type of network connection is NOT a way of connecting to the Internet?
eng



01. TCP/P 02. Dial-up

03. ISDN 04. T1
05. 13
Q-176 P XdH B B UHR FeIAC Silg Bl aRIhT Tel 82
hi
01. TCP/IP 02. SEd-3Y
03. ISDN 04. T1
05. T3
Solution for Question 176 Ans Key: 1
eng TCP/IP type of network connection is not a way of connecting to the Internet.
hi TCP/IP cddh 1R DI YDHR 3c-c U Siied ® Udh Rl a1 gl
Q-177 What is the default left margin in Word 2003 document?
eng
01. 1" 02. 125"
03. 15" 04.
05. 3
Q-177 T3 2003 SiagHe ¥ fethlee Ave ATl @ 82
01. 1" 02. 125"
03. 15" 04. 2
0s. 3"
Solution for Question 177 Ans Key: 2
1.25" is the default left margin in Word 2003 document.
TS 2003 SIFHC H fSthice due AN 1.25" BldT g |
Q-178 Portrait and Landscape are -
01. Page Orientation 02. Paper Size
03. Page Layout 04.  All of the above
05. None of these
= .
Q-178 TUIERT 3R ATEDHY -----o- o Bl B
01. TS 3fiRUCH 02. TR RS
03. UV of3fr3e 04. IWRIad gt
05. g9 9§ Dis el
Solution for Question 178 Ans Key: 1
eng Portrait and Landscape are type of Page Orientation.
hi UIce 3R dehy Ul 3NRUCTH & YHR 3 |
Q-179 Software that the computer uses to start, or “boot” is found where:
eng
01. The Operating System (OS) 02. File Allocation Table (FAT)
03. Microsoft Windows (WIN) 04. Dynamic Data Exchange (DDE)
05. None Of These ]
Q-179 TFEAR O HIYER wIE 1§ B & o8 YT fosan STl €, 9 Sal url Siral 82
hi
01. 3HTRfET R (0s) 02. HIEd UAIH YA cad (FAT)
03. HRHNITE [GSS(WIN) 04. SOATH® STeT TRl (DDE)
05. T8 I PIs G
Solution for Question 179 Ans Key: 5

eng Software that the computer uses to start, or "boot" is found in Basic In-Out System (BIOS).



DR Y, AT g ', I8 (BIOS) ¥

Q-180  Which of the following is not a correct variable type?

eng
01. float 02. real
03. int 04. double
05. char
Q-180 378 I DI U1 TH, UE! NS UHR g1 82
hi
01. float 02. real
03. int 04. double
05. char
Solution for Question 180 Ans Key: 2
eng Real is not a correct variable type

hi Rgd T Ul dNuad BT UhR 516 |

Q-181  This case converts first character of first word of selected sentence to capital

engo

01. sentence 02. upper
03. toggle 04. title
05. lower

Q-181 TE B IAGE A1 & Ugd g & Ugd 31eR B! dfted H uRafdd & 8-

01. g 02. 3R
03. 2T 04. TIEfed
05. @ISR
Solution for Question 181 Ans Key: 1

To capitalize the first letter of a sentence and leave all other letters aslowercase, click Sentence case.

U I P Ugd &R B o iied MR 3 I B AleR Y A BIS o & [l G< g Y faeid HRd g

Q-182  What tool can the user use to set indents or tabs?

eng

01. Title bar 02. Insert point
03. AutoCorrect 04. Ruler
05. None of these

Q-182 IR S UI T, IS¢ T ¢ U< B & 1T YA &l g2

01. CIEcd aR 02. 39 Wige

03. 3ffel P 04. TR

05. 399 QA PHIS Tal
Solution for Question 182 Ans Key: 4
eng User use Ruler to set indents or tabs.

hi TR, TR BT IUTNT $8C TT s Bl Y DI o foll HRd &

Q-183  When you start MS-Word, the opening document has the name as
eng

01. docl 02. document 1
03. document 04. newdocl
05. first document

Q-183 3 THUY G8 Y[F HXd ¢ o, Yl §U SIagHC BT ATH —-------- HEI]

hi

01. docl 02. document 1

03. document 04. newdocl



05. first document
Solution for Question 183 Ans Key: 2

eng When you start MS-Word, the opening document has the name as Document 1.

hi 3T THUY 98 Y= B § o, Yo Il SIagHe bl T <SiRgHcl BidT g |

Q-184  Which of the following shortcut keys are used for selecting the whole document?

eng
01. Ctrll+A 02. Ctrl+S
03. Ctrl+W 04. Ctrl+X
05. Ctl+Z

Q-184 FHHAYPH U AEHe B R SlagHT P! Ydae B P (o8 TN B STl 52
hi

01. Cul+A 02. Ctrl+S

03. Ctl+Ww 04. Ctrl+X

05. Ctrl+2Z
Solution for Question 184 Ans Key: 1
eng Ctrl + A shortcut keys are used for selecting the whole document.

Ctrl + A QIChe B R SIFAC DI Jade B & 178 TN B STt g |

Q-185  The field names are enclosed within-

01. <<>> 02. >><<
03. >>>> 04, <<<<

05. None of these

Q-185 IS ATH ---nmmeve & MR 5

01. <<>> 02, >><<
03. >>>> 04, <<<<
05. S0 ¥ BIS el
Solution for Question 185 Ans Key: 1

The field names are enclosed within >.

Qkby uke <<>> ds vanj gksrs gSaA

Q-186 Youcansetleft, rightand ......... alignment in word processing.

01. centre 02. justify

03. top 04. Both 1 and 2

05. None of these
Q-186 MU d8 TR H, AUT, WGT 3R -------ommv TdAETHe YT B ohd g
hi

01. T3 02. SIBIS

03. ¢fg 04. THT1 3R 2

05. 399 I BIS T8!
Solution for Question 186 Ans Key: 4
eng You can set left, right and centre, justify alignment in word processing.

hi 31U 98 TR H Aue, e 3R Vo3, WREHTS TdIs-THe I¢ B Jobd gl

Q-187 Therole of a... generally determine a buyer’s needs and match it to the correct hardware and software.
eng

01. Computer scientist 02. Computer sales representative
03. Computer manufacturer 04. Computer operator

05.  Computer instructor

Q-187 TH --ooeemeee BT YAHT 3 TR TR U hal BI ool BT YR HAT 3R Tl GrEdiR 9 AieadR ¥ 38 AI AT 8 |



01. HHR aFHD 02. SR fashy yfaffer
03. PR Fafar 04. PR TR
05. SR URIEH
Solution for Question 187 Ans Key: 2
eng The role of a Computer sales representative generally determines a buyer’s needs and match it to the correct hardware and software.
hi T DL B! fdchl YIAMTY UT: 317 TR R Teb TRIGGR Pl S=dl 3R I el BTeatR 3R J0CadR J Hd HRATGIAT B |
Q-188  Which of the following allows you to communicate with multiple users at the same time ?
eng
01. Instant messaging 02. E-mail
03. A chat room 04. A photo community
05.  None of these
Q-188 T I T 3MUH! U &1 THT T 3 vaIanail & T Tdle I BT A ST 82
hi
01. e AARHT 02. S
03. JTEH 04. IS ST
05. 390 q PIs T8l
Solution for Question 188 Ans Key: 3
A chat room allows you to communicate with multiple users at the same time .
T I & TTH! U ol GHT | B3 YaIadrsil & I1Y Jdle b &I SgAfd ear g |
Q-189 How does the keyboard’s Backspace key work?
01. Tt erases characters to the left of the cursor . 02. It erases characters to the right of the cursor.
03. Tt moves the cursor left. 04. Tt erases the character above the cursor .
05. None of these
Q-189 TINIS B! dHWY DI DY HIH B! 82
01. %Eﬂ%%aﬁ 3R P &R P! et 02. AT HIUR & aTs iR & 31eR &I firerdt &
03. I8 HIAI B! 918 3R o olal & 04. TE HIX P HUR P Pael Pl fHerd g
05. T8 q Pis A8
Solution for Question 189 Ans Key: 1
The keyboard’s Backspace key erases characters to the left of the cursor .
IS DI HIY PHoil, HUR P I3 AR P HRFeR Bl gerdl 6 |
Q-190  Which of the following will determine your choice of systems software for your computer ?
eng
01. Is the applications software you want to use 02. Is it expensive
compatible with it
03. Ts it compatible with your hardware 04. 1and3
05. 1and2
Q-190 FHEIDH I, > HYR & o Ried A dTR B 3HTUH! @i B Ay H1m?
hi
01. T 37T S YRR AR TR 02. FITYE 7T &
FIT A6 & 39 I Hufead g a1
Rl
03. %ma-s'&nqé% TIEAW & Ty HUfead 04. 1 3R 3
05. 13iR2
Solution for Question 190 Ans Key: 4

eng

Systems software for your computer is the applications software you want to use compatible with it and it is compatible with your hardware.

hi

3 HYCR b folt AT e T aR & 1Y T DH R Gtk HHCad 5, R F1 I8 D rediR & 1Y HEfcad g 2



Q-191

eng

Q-191
hi

In the blocked state

01. the processes waiting for I/O are found ~ 02. the process which is running is found

03.  the processes waiting for the processor are 04.  All of the above
found

05. None of these

wiles e H-

01. O ! Uiam R el Uufhard gldt g 02. I B arell Ufehard urht ol &
03. TIOR P Ulel I3 il ufopard 04, IuRiad gt

ot S §
05. T8 4 PIs A8
Solution for Question 191 Ans Key: 1
eng In the blocked state ,the processes waiting for I/O are found .
hi s W H, UIH &g U & ol SToIR & 3 |
Q-192  Which keystorke will take you at the beginning of the next of previous page of the document?
01. Ctrl+PageUp and Ctrl+PageDown 02. Shift+Home and Shift+End
03. Ctrl+Home and Ctr I+End 04. The only way is by using the right scroll bar
05. None of these
Q-192 FH BN TIH AUHI SagHc & fFa Ul & a1 It U & TR H & e
01. Ctrl + PageUp 3R Ctrl + PageDown 02. Shifi+Home 37 Shifi+End
03. Ctrl+Home 3R Ctr +End 04. I PHad WS TpIdl SR P STV b1 S Havell &
05. 390 q PIs g
Solution for Question 192 Ans Key: 1
Ctrl+PageUp and Ctrl+PageDown
Eb'_cfl?f A PageUthTCtrl + PageDown
Q-193  The candidate key which identifies the tuples in a relation uniquely is-
eno
01. Super key 02. Primary key
03. Foreign key 04. 2and3
05. None of these
Q-193 TH =M & ¢ud & UgaH- aret! fafkig &b & At g2
hi
01 R PP 02. TR F
03. THRA B 04. 23R 3
05. 379 Y PIS Tal
Solution for Question 193 Ans Key: 2

eng The candidate key, which identifies the tuples in a relation uniquely is Primary key.

hi T RoRH § Hfese Bl TUd B (AT U § Ugad & ford WeHs] ‘B $5d o |

Q-194 Database management systems are intended to

eng
01. eliminate data redundancy 02. establish relationship among records in different files
03. manage file access 04. maintain data integrity
05. All of the above

Q-194 3o Ysie Ul T S22 Bl 8-

hi

01. ST RESH & T BT 02. fafts wrzal & Sificial & oie Tae wifd &=



03. WIS TRIY T g e 04. 3T SCIICTH ST X1

05. JWRIed it
Solution for Question 194 Ans Key: 5
eng Database management systems are intended to eliminate data redundancy,establish relationship among records in different files and manage file access

and maintain data integrity.

hi Seeg AavAc Ried, Sier Res=ll &1 gcM, 9 WIsd & Yble H N RITUd B & AT, BId T v o4 3R SeT SRt

BT A & T 991 I & |
Q-195 Internetis
eng
01. alocal computer network 02. aworld wide network of computers
03. an interconnected network of computers ~ 04. a world wide interconnected network of computers which use a common protocol to communicate
with one another.
05. aclient computer
Q-195 Tcs-
hi
01. TP Apdl SR 1D 02. P BT T fay T “ead
03. HULR BT TP IRWNSG edd 04. HTLR! BT T Iy TRWUNS ead S Th HIF- Uil BT IudN U ¥k o
HHHT B P o8 HRAT g |
05. TH FAEC HAYR
Solution for Question 195 Ans Key: 4

Internet is a world wide interconnected network of computers which use a common protocol to communicate with one another.

SeRAC U IS G-1a1 H IRER IS HUCR B Ud -€dd © off U guR & A1 Halg B o 1078 UIcidbid BT YA Hd g

Q-196 By an intranet we mean

01. aLAN of an organization 02. a Wide Area Network connecting all branches of an organization
03. a corporate computer network 04. anetwork connecting all computers of an organization and using the internet protocol

05. None of these

Q-196 T T gHRT 31 B-

01. TP TS BT 02. TSP T &) It rarsfi &1 Siea & ol U args uiar “eas
03. U HUH! BT PR ~£adb 04. UH o & Gl SR I SIS alal ad 3R §ee UIeihid &1 SUINT
05. 3TH ¥ BPIS T8
Solution for Question 196 Ans Key: 4

By an intranet we mean a network connecting all computers of an organization and using the internet protocol.

TP SMC BT 3 § Pt 30 Zexe Wi Id Bl SUANT b Th TS b JHY R I olisd g |

Q-197 Which layer is closer to the user?
eng

01. Network layer. 02. Physical Layer
03. Data Link Layer 04. Application Layer
05. Presentation layer

Q-197 H I MR IoR & Yaffdss e gt g2
hi

01. “cab TR 02. fpforerd TR

03. 3reT fofid AR 04. TRHIH RR

05. Joiee AR
Solution for Question 197 Ans Key: 4
eng Application Layeris closer to the user.

hi SIYINT U, IUANTh ] &b B BT 6 |

Q-198 If you wanted to create a broadcast that could be downloaded from the Internet, what would you create?
eng



01. IBroadcast 02. EShow

03. Podcast 04. ICast
05. EPost
Q-198 IS 319 TS STSHRE T A8 &, O Fexie I S3arS {31 o a1 8 dl 3y &1 SR
hi
01. IE-FSHRS 02. 3=
03. UlEHhRe 04. 3ME-HRC
05. 3.URC
Solution for Question 198 Ans Key: 3
eng If you wanted to create a broadcast that could be downloaded from the Internet, then you create podcast.
hi Tl 3MY SISHRE I ATEd & o Fec IR S3AAS [T ST Wb Al 34 GIShRE §-1d 3 |
Q-199 Ifyou wanted to be part of an online community that creates an educational web site that allows its members to add or to change its information, what type
eng of web site would you need?
01. Educational or .edu 02. Social networking site
03. Wiki 04. Web2.0
05. None of these
Q-199 IS 31U U 3z &1 feea1 I 9154 € Sl U RN 39 WIge ST § 3R 30 T & SH THGRI e T Jaa Hi
STARI T § I T %g 3AUD| [T UHR DI a9 WIZC B! SHAIDHT GIIT?
01. RO AT edu 02. RIS Aeafdh T HIze
03. 04. I92.0
05. 390 q PIs g
Solution for Question 199 Ans Key: 3
If you wanted to be part of an online community that creates an educational web site that allows its members to add to or change its information, you need
Wiki type of website.
7e SfT9 TH ST &1 o81 ST 9164 © S U Reih 8 WIsc a1l & 98 S0 Hawd| Bl SIS & [o1¢ AT ST SIBRI Bl
e P ST 3T B % 3! JGFISE b faP! UHR Pl oI B |
Q-200 Cisa-
01. high level language 02. low level language
03. high level language with some low level 04. low level language with some high level features.
features.
05. None of these
Q-200 C TP |
01. TS 9 cvawl 02. A AT
03. P ol de Bled AU TR AIT 04, HD BTS ol Brard o 1Y ol clded cAvaol
iG]
05. T8 q PIs g
Solution for Question 200 Ans Key: 3
eng Cis a high level language with some low level features.
hi C U §Ts 0 iaSl & 1Y S ol dlad BreR Pl @l g |




